RIRSE 2

WE (AT RERBRRE)

) X mBthEZEmE 1 AEE - HEEENY I/ EEERENE
| waxs |2 | #wxs ERDEE
WBREEME 1 WBREEME 1
&3 &3
D @) ©) @ ® ® @
4% LR 114,380 (122, 340) 1200 (1, 200) | x pn&r= (7,960)| Foxme=)
15;&75 1= 7, 7101 +| 70xfnE=
3 B R 122, 340 200 X INELER 7,960] 70x mExE
164 4% LR 70,390 (78, 350) 680  (760)| x pnE = (7,960)| Foxme=)
2?19 1= 4,620+ | 40xpnE=
ol 3 B R 78, 350 760 X INER 7,960| 70x Mg
26 4% LR 51,540/ (59, 500) 490  (570)| x = (7,960)| Foxme)
3\?19 1= 3,300+ | 30xpnE=
ol 3 B R 59, 500 570 X INELR 7,960| 70x Mg
36N 4Bl 51,750| (59, 710) 490 (570)| x mE= 7.960)| (FoxmEx)
4\?19 1= 2,570 +| 20xfnE =
ol 3 B R 59, 710 570 X INELER 7,960| 70x Mg
464 4% LR 47,850/ (55, 810) 460 (540 | x @ (7,960)| Foxme=)
eéjf 1= 1,920[+| 10xpnE=x
ol 3 B R 55, 810 540 X INELER 7,960| 70x Mg
614 4% LR 42,380 (50, 340) 400  (480)| x &= (7,960)| Foxme=)
7\?19 1= 1,540[+| 10xnE=x
ol 3 B R 50, 340 480 X INELER 7,960| 70x Mg
76N 4Bl 38,700| (46, 660) 360 (440) | x ME= 7.960)| (FoxmEx)
géjf 1= 1,280[+| 10xpnE=
ol 3 B R 46, 660 440 X INELR 7,960| 70x Mg
9N 4% LR 36,070 (44, 030) 340 (420)| x = (7,960)| Foxme)
10’;‘)? 12 1,100{+| 10xmeE=
¢ 3 B R 44, 030 420 X INELER 7,960| 70x Mg
1064 4% LR 34,120 (42, 080) 320 (400)| x o= (7,960)| Foxme=)
20/100 5 | e 960|+| 9xmEx
iz 120 A =
£ 3 B R 42,080 400 X INELER 7,960| 70x Mg
1214 4Bl 32,580| (40, 540) 300 (380) | x mE= 7.960)| (FoxmEx)
n 12 850|+| 8xpnEX
135N =
3+ 3 B R 40, 540 380 X INELER 7,960| 70x Mg
1364 4% LR 31,370] (39, 330) 290  (370)| x = (7,960)| FoxmeE)
15’5‘)? 12 770[+|  7x =
=T 3 m R 39, 330 370 X fng =R 7,960 70xfnE=
1514 4% LR 29,540/ (37, 500) 270| (350 | x = (7,960)| FoxmeE)
18’5‘)? 12 640+ | 6xmE®
e 3 B R 37, 500 350 X INELER 7,960| 70x Mg
1814 4Bl 28,220| (36, 180) 260 (340) | x ME= 7.960)| (FoxmEx)
21’5‘)? 12 550+ | 5x
=T 3 ®m R 36,180 340 X IR 7,960| 70x fngs
211N 4% LR 27,240/ (35, 200) 250 (330 | x @ (7,960)| Foxme=)
24’5‘)? 12 40|+ |  4x s
=T 3 m R 35, 200 330 X fng =R 7,960 70xfnE=
241 A 4B ER 26,480 (34, 440) 240] (320 | x M= (7,960)| (70xmz=)
27’5‘ R a20|+|  axmE=
e 3 B R 34, 440 320 X INELR 7,960| 70x Mg
2NA 4Bl 25,870| (33, 830) 240 (320)| x M= 7.960)| (FoxmEx)
30’5‘)? = 380+ | 3xmE®
=T 3 m R 33,830 320 X fng =& 7,960 70xfnE=
4% LR 23,930/ (31,890) 220 (300)| x pnE = (7,960)| Foxme)
30;; 1= 350|+| 3xmmEX
3 ®m R 31,890 300 X fng =& 7,960 70xfnE=




7 3 ik RIS INEE N E (3

75 3 ik RIS INEE N E (3

BEEE
ont . BRREXENERL) | | BRREXENEAY) AR
wn | BERS | BN | 8RS
| PR | RSN | WBREFMEA 1
@ @ |o| a © Ok
4LlER
18A g 5,780[+| 50x &=
T 3 & W[+ 55770+ | s50x mzak|+ | 47, 810|+ | 470x Mz
16.A 4LLER
25 | g 3,470+ | s0xmmk
22% 3 #® R|+| 55 770|+ | 550 x gk |+ | 47,810|+ | 470 x M
268 4mLLER
N R 2,480[+] 20x g =
3;% 3 #& WR|+| 55 770|+ | 550 x gk |+ | 47,810|+ | 470 x M
364 4LLER
n5 g N -
42% 3 #® R|+| 55 770|+ | 550 x gz |+ | 47,810|+ | 470 x M
LN 4LLER
AC NS N -
eg% 3 #® WR|+| 55 770|+ | 550 x gk |+ | 47,810|+ | 470 x M
61A 4LLER
AC NS N -
7;% 3 #® WR|+| 55 770|+ | 550 x gz |+ | 47,810|+ | 470 x M
764 4LLER
AC NS N -
9;% 3 #& WR|+| 55 770|+ | 550 x gk |+ | 47,810|+ | 470 x M
91 A 4LLER
25 | e -t -
1§Q_ 3 #® R|+| 55 770|+ | 550 x gz |+ | 47,810|+ | 470 x M
1064 4B
20/100 25 | e |t -
s 12@ 3 % R 55, 770+ | 550 = mng |+ [ 47, 810(+ | 470 x &
1214 4LlER
LA R 640[+| 6xmEE
1§Q_ 3 #® WR|+| 55 770|+ | 550 x gz |+ | 47,810|+ | 470 x M
136.A 4BMER
L R 570[+| b5xmEE
1?ﬁ- 3 #& WR|+| 55 770|+ | 550 x gk |+ | 47,810|+ | 470 x M
1614 4LLER
LA I 480[+| 4xmEE
12@ 3 #® WR|+| 55 770|+ | 550 x gz |+ | 47,810|+ | 470 x M
1814 4B
LI 410[+|  4xmEE
210)\ = p— e
el 3 & R|+| 55 770+ | s50x mzak|+ | 47, 810|+ | 470x M
211 A 4LlER
LI 360[+| 3xmEE
240)\ = p— e
ol 3 & R|+| 55770+ | s50x mzak|+ | 47, 810|+ | 470x Mz
241X 4B
LI 320[+| 3xmE=E
270)\ = p— e
el 3 & R|+| 55 770+ | s50x mzak|+ | 47, 810|+ | 470x M
271 A 4LlER
) = 280[+| 2xmEE
so0n | 17 %
ol 3 & R|+| 55 770|+ | s50x mzak|+ | 47, 810|+ | 470x Mz
4LlER
301N | g 260[+| 2xmEX
2t 3 & R|+| 55 770|+ | s50x mzak|+ | 47, 810|+ | 470x Mz




F—LREMEME

ot - @ SXINERTA 7= Y B BEZDME
wa | EAERS | BN | #6EH
B ESENE T DB BN |
©) ) ® @ ®
5o 4R
e | 1% 31, 870 X AR A% 310X MNELK X JNEA % C640|+| 30xmE=
3 B OB
164 4ABULER
2?; 1= 19, 120 X MERA 2 190 X AN X MEEA B 400|+| 20x =
T 3 ® R
260 4ABULER
3§f 1= 13, 650 X MERA 2 130 X ANEL 2 X MNERA B L000|+| 20x =
£T 3 ® R
6N 4Bk
4§f 1= 10, 620 X MERA 2 100 X AN X MERA B L 730|+| ToxmE=
£T 3 & R
46N 4ABULER
e?f 1= 7,960 X JNELA % 70 X B X MEEA B ,300|+| ToxmE=
T 3 ® R
61A 4ABULER
7?; 1= 6, 370 X JNELA %K 60 X NEL 2 X MEEA B L040|+| ToxmE=
*£T 3 ® R
ﬁ{ AEmE
gw? 12 5, 310 X INER A% 50 X MNELE X MNEEA 3 860|+| 8xmE=x
£T 3 & R
A 4ABULER
1£f 1% 4, 550 x e A %8 40 X ML X MNBE A 35 740\ +|  TxmEx
£T 3 ® R
1064 4% LR
| | 3,980 X MEAH 30 s x MEAM|+ | 650|+| 6xmmaE
s 120A = . A n n
£T 3 ® R
1ﬂ§ 4Bk
1%f 12 3, 540 X INER A %K 30 X MNELE X MNEEA 3 570|+| B5xmE=x
T 3 ® R
1364 4ABULER
1£f % 3,180 x e A %8 30 X ML X MNBEA 5 520|+| BxmmEx
T 3 ® R
1814 4ABULER
1£f % 2, 650 x e A %8 20 X ML X MNBE A 5 500\ +| B5xmmEx
T 3 ® R
12} 4Bk
me 12 2, 270 X INER A% 20 X MNELE X MNEEA 3 500[+| B5xmEx
T 3 ® R
2114 4ABULER
2£f % 1,990 x g A % 10X INSE3 X AR A %K 500\ +| B5xmmEx
T 3 ® R
2414 4ABULER
2%f % 1,770 x Mg A % 10X INSE3R X AR A% 500\ +| B5xmmEx
£T 3 ® R
2@} 4Bk
3wf 12 1,590 x M A% 10 % INE = X fNER A%k 500|+| B5xmE=x
T 3 ® R
010 4R
e 15 1, 440 X /e A % 10 X INE R X MNAEAE 500+ | bHxfnE=x
3 B OB




RRENE (BEAAE)

RN

| waxs |2 | #wxs
LBREEME |
@ @ ©) @ ®
AN
1BA | 4o AL 2.730 20 480
Al & " SFETDES A=E XB M 1= Y A X IEE SSETDES AL
i Ju
164 LR
R AL 1,630 10 290
BA 17, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
260 LR
R AL 1.170 10 200
BA T, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
T 28 JT
360 LR
R AL 910 9 160
L & RS EYDES A2E EEEEVEDES AzE SRR x Bt Y R A%
T 28 JT
460 LR
R AL 680 6 120
LU & " RS TEDES A2k XBY =Y EHE R MEE RS ETEDES A2k
T 28 JT
614 0
R AL 570 5 100
AT & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
760 0
R AL 500 5 80
A LT, & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
NA AEUER
5| g 440 4 L 80
1054 3 & & S EIDES Ak X B 1= Y S B X IE SSETDES A=E
£T 28 JT
106.A =1 bR
20/100 I I AL 410 4 70
Hhigh 1204 7 f & " SSETDES A=E XB M 1= Y A X IEE SSETDES AL
£T 28 JT
1214 S50 E R
AR I AL 370 3 60
135A | 77 |, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
1364 4EUER
"o | g 350 3 L 60
1504 3 & & S EIDES Ak X B 1= Y B X IE SSETDES A=E
£T 28 JT
1514 S50 bR
AR AL 300 3 50
180A | 77 |, & RS EYDES A2E EEEEVEDES AzE SRR xB1= Y R A%
£T 28 JT
1814 -
R AL 270 2 40
2108 | 77 & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
211A 4EUER
5| g 250 2 L 0
240 3 & & S EIDES Ak X B 1= Y B X IEE SSETDES A=E
£T 28 JT
2A41A S50 E R
R I AL 220 2 40
2108 | 7| & RS EPDES AzE EEEEVEDES A2k SRR RS YDES AL
£T 28 JT
271A S50 E R
I I AL 200 2 30
300A |7, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
£T 28 JT
AN
A | 4a AL 180 1 30
BE |7 S EIDES Ak XSB M 1= Y S B X E SFETDES A=E




B MBEBA)
R HE
%ﬁ EARS | B | FHRS
MBHEEME |
©o | @ |o] o |6
4EULER
A s sy R E IR
T 3 B R
164 4mULER
A RE i@gtuimaﬁXM%ﬁ
25N 3 5 B
ES
261 4mULER
ACHRE i@gtuimaﬁXM%ﬁ
3BA 3 5 B
£
36A 4mULER
A RE 1x@§tuimaﬁxm§$
45N 3 5 B
ES
464 4mULER
A RE 1x@§tU$mEﬁXM%$
60A 3 5 B
£
61A 4L
ACHRE 1x@§tU$mEﬁXM%$
TBA 3 5 B
ES
764 4L
A RE 1x@§tU$mEﬁXM%$
90A 3 5 B
£
91A 4mULER
A RE 1x@§tU$mEﬁXM%$
106N 3 5 B
£
106.A AmULR| N
el B R X B 1= Y SEHE B 4 X B
Hhig 3 B R
T
1214 4EULER
ABRE 1x@§tU$mEﬁXM%$
135N 3 5 B
£
136.A 4EULER
N RE 1x@§tU$mEﬁXM%$
150N 3 5 B
£
1514 4EULER
RE 1x@§tU$mEﬁXM%$
180N 3 5 B
£
1814 4L
AERE 1x@§tU$mEﬁXM%$
210N 3 5 B
£
21 4EULER
RE 1x@§tU$mEﬁXM%$
240N 3 5 B
£
241 A 4EULER
N RE 1x@§tU$mEﬁXM%$
270N 3 5 B
£
A 4EULER
N RE 1x@§tU$mEﬁXM%$
300N 3 5 B
£
4EULER
WA 11g iy i B xR
Ut 3 B R




%ﬁ%g% T E%%m%§§§ ififiif
ﬂﬁt"x = 0 —Flilé 5 =) 1@ %) 5 =)
x4 | ERES FE) Xéuﬁéﬁﬁgﬂiﬁﬁéné
FELOEMZME
D @) @ ® (©)
4EmLER
154 27 330 225 X &P OHKE (31,870 G~® BB, ))
T 3 & ' EHEB#H +310 X INEXK) X A% X 63/100
164 AEUER
" 16800 225 X & BOHKE (19,120 G~® BB, ))
22\ s B : e =E +190 X INER) x A% X 75/100
< 73
261 AEUER
" 12 280 225 X & B DHKE (13, 650 G~® BB, ))
32\ s B : e A=E +130 X INER) x A%k X 96/100
’E T
36 AEUER
" 9770 225 X & B OHKE (10, 620 G~® BB, ))
42\ s B : e A=ErS +100 X INER) x A% X 98/100
< 73
46 AEULR
" 7 500 225 X & B DHKE (7. 960 G~® BB, ))
e;& s B : e A=ErS +80x MNEE) x A% X 88/100
’E» T
61N A ER
" 6 130 225 X & BOHBE (6, 370 G~® BB, ))
gﬁ s B ' e =E +60 X MEE) x A% X 91/100
’E T
78 AEUER
" 5 990 225 X & B DHKE (5. 310 G~® BB, ))
9;& s B : e =E +50 X MEX) x AL X 88/100
< 73
NA AEUER
" 4660 225 X &P DHKE (4,550 G~® BB, ))
1@} s B : e A=ErS +40 X MNEE) x A% X 90/100
< 3
106.A 4EHUER
20100 e L ool | 225 xBRO®ER (3. 980 (O~® (@ER. ) )
i 12} s B : e =E +40 X MNEE) x A% X 92/100
’E T
1214 AEUER
" 3920 225 X & BOHBE (3,540 G~® BB, ))
1@} s B : A% +30 X MEX) x A% X 94/100
’C T
1364 4B ER
" 3 660 225 X & B DHKE (3,180 G~® BB, ))
1@} s B : e =E +30x MEE) x A% X 98/100
’C T
151 A 4B ER
" 3 160 225 X &P DHKE (2. 650 G~® BB, ))
12f s B : e =E +20 X MEE) x A% X 91/100
’E T
1814 4B ER
" 5 810 225 X & B DHKE (2,270 G~® BB, ))
ZQA s B : e =E +20 X MNEE) x A% X 94/100
’C T
21A 4B ER
" 5 540 225 X &P DHKE (1,990 G~® BB, ))
225 s B : e =E +20 X MEE) x A% X 98/100
’C T
241 A 4B ER
" 5 440 225 X & B DHKE (1,770 G~® BB, ))
225 s B : e =E +10x MEX) x A% X 98/100
’E T
2NA 4B ER
o 5 360 225 X &P DHKE (1,590 G~® BB, ))
325 s B : e =E +10x MEX) x A% X 98/100
’C T
4EmLER
301 A » 150 225 X & B DHE (1. 440 G~® BB, ))
Bl E : e =E +10x MEX) x A% X 98/100

3 ®




_ X MBAEEME I BEE - YEREME I REEREME
| waxs |2 | #wxs HAD R
WBREEME 1 WBREEME 1
G) G)
D @) ©) @ ® ® @
4EmLER 111, 040| (118, 760) L090| (1, 160) | x g (7,720)| (7oxmE=)
15;&75 1= 7,440 +| 70xpnE =
3 & R 118, 760 . 160 X IR 7,720 70x &=
164 A ER 68,390/ (76, 110) 660 (740) | x InE= 7, 7200 (7oxmz=)
2?19 1= 4,460)+| 40xpnE=
£ 3 & R 76,110 740 X INE R 7,720 70x &=
26 4% LR 50,110 (57, 830) 480|  (560)| x pnE = 7,720 Goxme=)
3\?19 1= 3,180+ | 30xfnE=
£ 3 & R 57, 830 560 X IR 7,720 70x &=
36N 4Bl 50,310| (58, 030) 480 (560) | x ME= 7.720)| GoxmEx)
4\?19 1= 2,480)+| 20xfnE=
£ 3 & R 58, 030 560 X IR 7,720 70x &=
46N A ER 46,530 (54, 250) 440 (520) | x &= 7, 7200 (7oxmz)
eéjf 1= 1,860[+| 10xnE=
£ 3 & R 54, 250 520 X IR 7,720 70x &=
61N A ER 41,230 (48 950) 390 (470)| x inE= 7, 7200 7oxmz)
7\?19 1= 1,480[+| 10xpnE=x
£ 3 & R 48, 950 470 X IR 7,720 70x &=
76N 4%k 37,660 (45, 380) 350 (430) | x nE= 7, 7200 7oxmz)
géjf 1= 1,240+ 10xnE=
£ 3 & R 45, 380 430 X IR 7,720 70x &=
9IA 4B ER 35,100 (42, 820) 330 (#10)| x nE= 7, 7200 (7oxmz=)
10’;‘)? 1= 1,060|+| 10xmE=x
$ 3 & R 42,820 410 X IR 7,720 70x &=
106.A 4B ER 33,220/ (40, 940) 310 (390) | x &= 7, 7200 (7oxmz)
16/100 5 | e 930|+| 9xmE=
iz 120 A =
+ ¢ 3 & R 40, 940 390 X IR 7,720 70x &=
1214 4Bl 31,730| (39, 450) 290 (370)| x mE= 7.720)| GoxmEx)
N 12 820+ S8xmMEX
135N =
g 3 & R 39, 450 370 X IR 7,720 70x &=
1364 4B ER 30,560 (38, 280) 280 (360) | x InE= 7, 7200 7oxmz)
15’5‘)? 1= 700 +|  7x =
gl 3 & R 38, 280 360 X IR 7,720 70x &=
151 A 4B ER 28,780 (36, 500) 260 (340) | x InE= 7, 7200 7oxmz)
18’5‘)? 1= 620+ | 6x
g 3 & R 36, 500 340 X IR 7,720 70x &=
1814 4% E 27,500/ (35, 220) 250 (330) | x InE= 7, 7200 7oxmz)
21’5‘)? 1= 530+ | 5xmEx
£ 3 & R 35, 220 330 X IR 7,720 70x &=
21A 4B ER 26,550 (34, 270) 240 (320)| x &= 7, 7200 7oxmz)
24’5‘)? 1= 460+ |  4x =
£ 3 & R 34, 270 320 X IR 7,720 70x &=
241 A 4B ER 25,810/ (33 530) 240 (310)| x &= 7, 7200 7oxmz)
27’5‘)? 1= sol+|  axmEx
£ 3 & R 33,530 310 X IR 7,720 70x &=
2NA 4Bl 25,220| (32, 940) 230 (310)| x mE= 7.720)| GoxmEx)
30’5‘)? 1= 370[+| 3x =
£ 3 & R 32, 940 310 X INE R 7,720 70x &=
4EmLER 23,340| (31, 060) 2100 (290)| x fnE = (7,720)| (70xmE=)
30;; 1= 330+ 3xmEX
3 & R 31, 060 290 X INE R 7,720 70x &=




7 3 ik RIS INEE N E (3

75 3 ik RIS INEE N E (3

BEEE
ont . BRREXENERL) | | BRREXENEAY) AR
wn | BERS | BN | 8RS
| PR | RSN | WBREFMEA 1
@ @ |o| a © Ok
4ELER
18A g 5,780[+| 50x &=
T 3 & R[+| 54 070|+ | 540x mzak|+ | 46 350|+ | 460x Mz
16.A 4ELIER
25 | g 3,470+ | s0xmmk
22% 3 #& R|+| 54 070|+ | 540x x|+ | 46, 350|+ | 460x
268 4ELIER
N R 2,480[+] 20x g =
3;% 3 #® R|+| 54070|+ | 540x k| + | 46, 350|+ | 460x Mk
364 4ELIER
n5 g N -
42% 3 % R|+| 54 070|+ | 540x x|+ | 46, 350|+ | 460x
LN 4ELIER
AC NS N -
eg% 3 #® R|+| 54070|+ | 540x x|+ | 46, 350|+ | 460x
61A 4ELIER
AC NS N -
7;% 3 #® R|+| 54070|+ | 540x x|+ | 46, 350|+ | 460x Mk
764 4ELIER
Be | e -t B
90A = N o
e 3 & R[+| 54 070|+ | 540x mzmak|+ | 46 350|+ | 460x Mz
91 A 4ELIER
25 | e -t -
1§Q_ 3 % R|+| 54 070|+ | 540x x|+ | 46, 350|+ | 460x
1064 4B
16/100 25 | e |t -
s 12@ 3 % R 54,070+ | 540x mngse|+ | 46, 350(+ | 460 x &
1214 4ELER
LA R 640[+| 6xmEE
1§Q_ 3 #® R|+| 54070|+ | 540x x|+ | 46, 350|+ | 460x Mk
136.A 4BMER
L R 570[+| b5xmEE
1?ﬁ- 3 #® R|+| 54070|+ | 540x k| + | 46, 350|+ | 460x Mk
1614 4ELIER
LA I 480[+| 4xmEE
12@ 3 #® R|+| 54070|+ | 540x x|+ | 46, 350|+ | 460x Mk
1814 4B
LI 410[+|  4xmEE
210)\ = p— e
el 3 & R[+| 54 070|+ | 540x mzmak|+ | 46 350|+ | 460x Mz
211 A 4ELER
LI 360[+| 3xmEE
240)\ = p— e
ol 3 & R[+| 54 070|+ | 540x mzak|+ | 46 350|+ | 460x Mz
241X 4B
LI 320[+| 3xmE=E
270)\ = p— e
el 3 & R[+| 54 070|+ | 540x mzmak|+ | 46 350|+ | 460x Mz
271 A 4ELER
) = 280[+| 2xmEE
so0n | 17 %
ol 3 & R[+| 54 070|+ | 540x mzak|+ | 46 350|+ | 460x Mz
4ELIER
301N | g 260[+| 2xmEX
2t 3 & R[+| 54 070|+ | 540x mzak|+ | 46 350|+ | 460x Mz




F—LREMEME

ot - @ SXINERTA 7= Y B BEZDME
wa | EAERS | BN | #6EH
B ESENE T DB BN |
©) ) ® @ ®
- 4R
e | 1% 30, 900 X ANER A% 300 x MNELEK X JNERA 2 C640|+| 30xmE=
3 B OB
164 4ABULER
2?; 1= 18, 540 X MERA 2 180 X AN X MERA B 400|+| 20x =
T 3 ® R
260 4ABULER
3§f 1= 13, 240 X MERA 2 130 X ANEL 2 X MNERA B L000|+| 20x =
£T 3 ® R
6N 4Bk
4§f 1= 10, 300 X MERA 2 100 X AN X MERA B L 730|+| ToxmE=
£T 3 & R
46N 4ABULER
e?f 1= 7,720 X JNERA %K 70 X B X MEEA B ,300|+| ToxmE=
T 3 ® R
61A 4ABULER
7?; 1= 6, 180 X JNELA % 60 X NEL 2 X MEEA B L040|+| ToxmE=
*£T 3 ® R
ﬁ{ AEmE
gw? 12 5, 150 X INERA %K 50 X MNELE X MNEEA 3 860|+| 8xmE=x
£T 3 & R
A 4ABULER
1£f 1% 4, 410x e A% 40 X ML X MNBE A 35 740\ +|  TxmEx
£T 3 ® R
1064 4% LR
1%50 1£f % 3,860 x & A 30X InE = X AR A% 650 +| 6xmmE=
£T 3 ® R
1ﬂ§ 4Bk
1%f 12 3, 430 X INERA 2K 30 X MNELE X MNEEA 3 570|+| B5xmE=x
T 3 ® R
1364 4ABULER
1£f % 3,090 x ke A %8 30 X ML X MNBEA 5 520|+| BxmmEx
T 3 ® R
1814 4ABULER
1£f % 2,570 % e A% 20 X ML X MNBE A 5 500\ +| B5xmmEx
T 3 ® R
12} 4Bk
me 12 2, 200 INERA 2K 20 X MNELE X MNEEA 3 500[+| B5xmEx
T 3 ® R
2114 4ABULER
2£f % 1,930 x Mg A % 10X INSE3 X AR A %K 500\ +| B5xmmEx
T 3 ® R
2414 4ABULER
2%f % 1, 710X Mg A % 10X INSE3R X AR A% 500\ +| B5xmmEx
£T 3 ® R
2@} 4Bk
3wf 12 1,540 x & A% 10 % INE = X fNER A%k 500|+| B5xmE=x
T 3 ® R
010 4R
e 15 1, 400 X finfE A %% 10 X INE R X MNAEAE 500+ | bHxfnE=x
3 B OB




RRENE (BEAAE)

RN

| waxs |2 | #wxs
LBREEME |
@ @ ©) @ ®
AN
1BA | 4o AL 2.730 20 480
Al & " SFETDES A=E XB M 1= Y A X IEE SSETDES AL
i Ju
164 LR
R AL 1,630 10 290
BA 17, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
260 LR
R AL 1.170 10 200
BA T, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
T 28 JT
360 LR
R AL 910 9 160
L & RS EYDES A2E EEEEVEDES AzE SRR x Bt Y R A%
T 28 JT
460 LR
R AL 680 6 120
LU & " RS TEDES A2k XBY =Y EHE R MEE RS ETEDES A2k
T 28 JT
614 0
R AL 570 5 100
AT & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
760 0
R AL 500 5 80
A LT, & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
NA AEUER
5| g 440 4 L 80
1054 3 & & S EIDES Ak X B 1= Y S B X IE SSETDES A=E
£T 28 JT
106.A =1 bR
16/100 I I AL 410 4 70
Hhigh 1204 7 f & " SSETDES A=E XB M 1= Y A X IEE SSETDES AL
£T 28 JT
1214 S50 E R
AR I AL 370 3 60
135A | 77 |, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
1364 4EUER
"o | g 350 3 L 60
1504 3 & & S EIDES Ak X B 1= Y B X IE SSETDES A=E
£T 28 JT
1514 S50 bR
AR AL 300 3 50
180A | 77 |, & RS EYDES A2E EEEEVEDES AzE SRR xB1= Y R A%
£T 28 JT
1814 -
R AL 270 2 40
2108 | 77 & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
211A 4EUER
5| g 250 2 L 0
240 3 & & S EIDES Ak X B 1= Y B X IEE SSETDES A=E
£T 28 JT
2A41A S50 E R
R I AL 220 2 40
2108 | 7| & RS EPDES AzE EEEEVEDES A2k SRR RS YDES AL
£T 28 JT
271A S50 E R
I I AL 200 2 30
300A |7, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
£T 28 JT
AN
A | 4a AL 180 1 30
BE |7 S EIDES Ak XSB M 1= Y S B X E SFETDES A=E




B MBEBA)
R HE
%ﬁ EARS | B | FHRS
MBHEEME |
©o | @ |o] o |6
4EULER
A s sy R E IR
T 3 B R
164 4mULER
A RE i@gtuimaﬁXM%ﬁ
25N 3 5 B
ES
261 4mULER
ACHRE i@gtuimaﬁXM%ﬁ
3BA 3 5 B
£
36A 4mULER
A RE 1x@§tuimaﬁxm§$
45N 3 5 B
ES
464 4mULER
A RE 1x@§tU$mEﬁXM%$
60A 3 5 B
£
61A 4L
ACHRE 1x@§tU$mEﬁXM%$
TBA 3 5 B
ES
764 4L
A RE 1x@§tU$mEﬁXM%$
90A 3 5 B
£
91A 4mULER
A RE 1x@§tU$mEﬁXM%$
106N 3 5 B
£
106.A AmULR| N
O S R X B 1= Y SEHE B 4 X B
i 3 B R
T
1214 4EULER
ABRE 1x@§tU$mEﬁXM%$
135N 3 5 B
£
136.A 4EULER
N RE 1x@§tU$mEﬁXM%$
150N 3 5 B
£
1514 4EULER
RE 1x@§tU$mEﬁXM%$
180N 3 5 B
£
1814 4L
AERE 1x@§tU$mEﬁXM%$
210N 3 5 B
£
21 4EULER
RE 1x@§tU$mEﬁXM%$
240N 3 5 B
£
241 A 4EULER
N RE 1x@§tU$mEﬁXM%$
270N 3 5 B
£
A 4EULER
N RE 1x@§tU$mEﬁXM%$
300N 3 5 B
£
4EULER
WA 11g iy i B xR
Ut 3 B R




%ﬁ%g% T E%%m%§§§ ififiif
ﬂﬁt"x = 0 —Flilé 5 =) 1@ %) 5 =)
x4 | ERES FE) Xéuﬁéﬁﬁgﬂiﬁﬁéné
FELOEMZME
D @) @ ® (©)
4EmLER
154 27 330 225 X &P OHKE (30, 900 G~® BB, ))
T 3 & ' EHEB#H +300 X INEXK) X A% X 63/100
164 AEUER
" 16800 225 X & BOHKE (18, 540 G~® BB, ))
22\ s B : e =E +180 X INER) x A%k X 75/100
< 73
261 AEUER
" 12 280 225 X & B DHKE (13, 240 G~® BB, ))
32\ s B : e A=E +130 X INER) x A% X 96/100
’E T
36 AEUER
" 9770 225 X & B OHKE (10, 300 G~® BB, ))
42\ s B : e A=ErS +100 X INER) x A% X 98/100
< 73
46 AEULR
" 7 500 225 X & B DHKE (7,720 G~® BB, ))
e;& s B : e A=ErS +70x MEE) x A% X 88/100
’E» T
61N A ER
" 6 130 225 X & BOHBE (6,180 G~® BB, ))
gﬁ s B ' e =E +60 X MEE) x A% X 91/100
’E T
78 AEUER
" 5 990 225 X & B DHKE (5. 150 G~® BB, ))
9;& s B : e =E +50 X MEX) x AL X 88/100
< 73
NA AEUER
" 4660 225 X &P DHKE (4, 410 G~® BB, ))
1@} s B : e A=ErS +40 X MNEE) x A% X 90/100
< 3
106.A 4EHUER
16/100|  mB L ool | 225 xBRO®ER (3. 860 (O~® (@ER. ) )
i 12} s B : e =E +30x MEX) x A% X 92/100
’E T
1214 AEUER
" 3920 225 X & BOHBE (3,430 G~® BB, ))
1@} s B : A% +30x MEE) x A% X 94/100
’C T
1364 4B ER
" 3 660 225 X & B DHKE (3,090 G~® BB, ))
1@} s B : e =E +30x MEE) x A% X 98/100
’C T
151 A 4B ER
" 3 160 225 X &P DHKE (2,570 G~® BB, ))
12f s B : e =E +20 X MEE) x A% X 91/100
’E T
1814 4B ER
" 5 810 225 X & B DHKE (2. 200 G~® BB, ))
ZQA s B : e =E +20 X MNEE) x A% X 94/100
’C T
21A 4B ER
" 5 540 225 X &P DHKE (1,930 G~® BB, ))
225 s B : e =E +10x MEE) x A% X 98/100
’C T
241 A 4B ER
" 5 440 225 X & B DHKE (1,710 G~® BB, ))
225 s B : e =E +10x MEX) x A% X 98/100
’E T
2NA 4B ER
o 5 360 225 X &P DHKE (1,540 G~® BB, ))
325 s B : e =E +10x MEX) x A% X 98/100
’C T
4EmLER
301 A » 150 225 X & B DHE (1. 400 G~® BB, ))
Bl E : e =E +10x MEX) x A% X 98/100

3 ®




_ X MBAEEME I BEE - YEREME I REEREME
| waxs |2 | #wxs HAD R
WBREEME 1 WBREEME 1
G) G)
D @) ©) @ ® ® @
4EmLER 110, 210| (117, 870) ,080| (1, 160) | x g (7,660)| (70xmE=)
15;&75 1= 7,370 +| 70xfnE=
3 & R 117, 870 . 160 X IR 7,660] 70x &=
164 A ER 67,890/ (75, 550) 660 (730) | x &= (7,660)| (70xmz=)
2?19 1= 4,420+ | 40xpnE=
£ 3 & R 75, 550 730 X INE R 7,660] 70x &=
260 A ER 49,750/ (57, 410) 470 (550) | x InE= (7,660)| (70xmz)
3\?19 1= 3,160 +| 30xfnE=
£ 3 & R 57,410 550 X IR 7,660] 70x &=
36N 4% E 49,950/ (57, 610) 480 (550) | x InE= (7,660)| (70xmz=)
4\?19 1= 2,450]+| 20xfnE =
£ 3 & R 57,610 550 X IR 7,660] 70x &=
46N A ER 46,200/ (53, 860) 440 (520) | x &= (7,660)| (70xmz=)
eéjf 1= 1,840+ 10x &=
£ 3 & R 53, 860 520 X IR 7,660] 70x &=
61N A ER 40,940/ (48 600) 390 (460) | x InE= (7,660)| (70xmz=)
7\?19 1= 1,470+ 10xnE=x
£ 3 & R 48, 600 460 X IR 7,660] 70x &=
76N 4Bl 37,400| (45, 060) 350 (430)| x mE= 7.660)| (FoxmEx)
géjf 1= 1,220[+| 10xpnE=
£ 3 & R 45, 060 430 X IR 7,660] 70x &=
9IA 4B ER 34,860 (42, 520) 330 (400) | x nE= (7,660)| (70xmz=)
10’;‘)? 1= 1,080| +| 10x mE=x
$ 3 & R 42,520 400 X IR 7,660] 70x &=
1064 4% LR 32,990/ (40, 650) 310) (380 | x = (7,660)| Foxme)
15/100 5 | e 920|+| O9xmE=
iz 120 A =
+ ¢ 3 & R 40, 650 380 X IR 7,660] 70x &=
1214 4% E 31,510/ (39, 170) 290 (370)| x InE= (7,660)| (70xmz)
N 12 810+ 8xmMEX
135N =
g 3 & R 39,170 370 X IR 7,660] 70x &=
1364 4B ER 30,350/ (38 010) 280 (360) | x InE= (7,660)| (70xmz=)
15’5‘)? 1= 730[+|  7x =
gl 3 & R 38,010 360 X IR 7,660] 70x &=
151 A 4B ER 28,590 (36, 250) 260 (340) | x InE= (7,660)| (70xmz=)
18’5‘)? 1= 610[+| 6xmEx
g 3 & R 36, 250 340 X IR 7,660] 70x &=
1814 4% E 27,320 (34, 980) 250 (330) | x InE= (7,660)| (70xmz=)
21’5‘)? 1= 520+ | 5x s
£ 3 & R 34, 980 330 X IR 7,660] 70x &=
21A 4B ER 26,370 (34, 030) 240 (320)| x &= (7,660)| (70xmz)
24’5‘)? 1= 460+ |  4x =
£ 3 & R 34, 030 320 X IR 7,660] 70x &=
241 A 4B ER 26,640/ (33 300) 230 (310)| x &= (7,660)| (70xmz=)
27’5‘ R 400 +| 4xmEx
£ 3 & R 33, 300 310 X IR 7,660] 70x &=
2NA 4% E 26,060 (32, 720) 230 (300) | x nE= (7,660)| (70xmz=)
30’5‘)? 1= 360+ | 3xmEE
£ 3 & R 32,720 300 X INE R 7,660] 70x &=
4EmLER 23,190| (30, 850) 2100 (290)| x fnE = (7,660)| (70xmE=)
30;; 1= 330+ 3xmEX
3 & R 30, 850 290 X INE R 7,660] 70x &=




7 3 ik RIS INEE N E (3

75 3 ik RIS INEE N E (3

BEEE
ont . BRREXENERL) | | BRREXENEAY) AR
wn | BERS | BN | 8RS
| PR | RSN | WBREFMEA 1
@ @ |o| a © Ok
4ELER
18A g 5,780[+| 50x &=
T 3 & WR|+| 53 650[+ | 530x mzak|+ | 45 990|+ | 450x Mz
16.A 4ELIER
25 | g 3,470+ | s0xmmk
22% 3 % R|+| 53 650|+ | 530x |+ | 45 990|+ | 450 x
268 4ELIER
N R 2,480[+] 20x g =
3;% 3 % R|+| 53 650|+ | 530x |+ | 45 990|+ | 450 x
364 4ELIER
n5 g N -
42% 3 % R|+| 53 650|+ | 530x |+ | 45 990|+ | 450 x
LN 4ELIER
AC NS N -
eg% 3 % R|+| 53 650|+ | 530x |+ | 45 990|+ | 450 x
61A 4ELIER
AC NS N -
7;% 3 % R|+| 53 650+ | 530x |+ | 45 990|+ | 450 x
764 4ELIER
Be | e -t B
90A = N o
e 3 & WR|+| 53 650|+ | 530x mzak|+ | 45 990|+ | 450x Mz
91 A 4ELIER
25 | e -t -
1§Q_ 3 % R|+| 53 650|+ | 530x |+ | 45 990|+ | 450 x
1064 4B
15/100 25 | e |t -
s 12@ 3 % R 53, 650(+ | 530x mn&s|+ | 45, 990(+ | 450 x ME
1214 4ELER
LA R 640[+| 6xmEE
1§Q_ 3 % R|+| 53 650+ | 530x |+ | 45 990|+ | 450 x
136.A 4BMER
L R 570[+| b5xmEE
1?ﬁ- 3 % R|+| 53 650|+ | 530x |+ | 45 990|+ | 450 x
1614 4ELIER
LA I 480[+| 4xmEE
12@ 3 % R|+| 53 650+ | 530x |+ | 45 990|+ | 450 x
1814 4B
LI 410[+|  4xmEE
210)\ = p— e
el 3 & WR|+| 53 650|+ | 530x mzak|+ | 45 990|+ | 450x Mz
211 A 4ELER
LI 360[+| 3xmEE
240)\ = p— e
ol 3 & WR|+| 53650+ | 530x maak|+ | 45 990|+ | 450x Mz
241X 4B
LI 320[+| 3xmE=E
270)\ = p— e
el 3 & WR|+| 53 650|+ | 530x mzak|+ | 45 990|+ | 450x Mz
271 A 4ELER
) = 280[+| 2xmEE
so0n | 17 %
ol 3 & W[+ 53 650+ | 530x mzak|+ | 45 990|+ | 450x Mz
4ELIER
301N | g 260[+| 2xmEX
2t 3 & W[+ 53 650+ | 530x mzak|+ | 45 990|+ | 450x Mz




F—LREMEME

ot 2% SXINERTA 7= Y B BEZDME
wa | EAERS | BN | #6EH
B ESENE T DB BN |
© ) ® @ @®
4R
12% 1% 30, 650 X fNBZ A % 300 x INEEEE X iNFEE A% ,640|+| 30x =
3 B OB
164 4ABULER
2?; 1= 18, 390 X MERA 2 180 X AN X MERA B 400|+| 20x =
T 3 ® R
260 4ABULER
3§f 1= 13,130 X MERA 2 130 X ANEL 2 X MNERA B L000|+| 20x =
£T 3 ® R
ﬁ{ 4Bk
4w? 12 10, 210 X ANEEA % 100 X ANEEE X MNER A% ,730]+| 10x mE=
£T 3 & R
46N 4ABULER
e?f 1= 7, 660 X JNELA %K 70 X B X MEEA B ,300|+| ToxmE=
T 3 ® R
61A 4ABULER
7?; 1= 6, 130 X JNELA % 60 X NEL 2 X MEEA B L040|+| ToxmE=
*£T 3 ® R
ﬁ{ AEmE
gw? 12 5, 100 X &R A 2K 50 X MNELE X MNEEA 3 860|+| 8xmE=x
£T 3 & R
A 4ABULER
1£f 1% 4, 370x e A% 40 X ML X MNBE A 35 740\ +|  TxmEx
£T 3 ® R
1064 4% LR
1%50 1£f % 3,830 x & A 30X InE = X AR A% 650 +| 6xmmE=
£T 3 ® R
1ﬂ§ 4Bk
1%f 12 3, 400 X INERA 2K 30 X MNELE X MNEEA 3 570|+| B5xmE=x
T 3 ® R
1364 4ABULER
1£f % 3,060 x ke A %8 30 X ML X MNBEA 5 520|+| BxmmEx
T 3 ® R
1814 4ABULER
1£f % 2, 550 x e A %8 20 X ML X MNBE A 5 500\ +| B5xmmEx
T 3 ® R
12} 4Bk
me 12 2, 180 X INERA %K 20 X MNELE X MNEEA 3 500[+| B5xmEx
T 3 ® R
2114 4ABULER
2£f % 1, 910 Mg A % 10X INSE3 X AR A %K 500\ +| B5xmmEx
T 3 ® R
2414 4ABULER
2%f % 1,700 x g A % 10X INSE3R X AR A% 500\ +| B5xmmEx
£T 3 ® R
2@} 4Bk
3wf 12 1,530 x & A% 10 % INE = X fNER A%k 500|+| B5xmE=x
T 3 ® R
010 4R
e 15 1, 390 X finfe A % 10 X INE R X MNAEAE 500+ | bHxfnE=x
3 B OB




RRENE (BEAAE)

RN

| waxs |2 | #wxs
LBREEME |
@ @ ©) @ ®
AN
1BA | 4o AL 2.730 20 480
Al & " SFETDES A=E XB M 1= Y A X IEE SSETDES AL
i Ju
164 LR
R AL 1,630 10 290
BA 17, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
260 LR
R AL 1.170 10 200
BA T, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
T 28 JT
360 LR
R AL 910 9 160
L & RS EYDES A2E EEEEVEDES AzE SRR x Bt Y R A%
T 28 JT
460 LR
R AL 680 6 120
LU & " RS TEDES A2k XBY =Y EHE R MEE RS ETEDES A2k
T 28 JT
614 0
R AL 570 5 100
AT & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
760 0
R AL 500 5 80
A LT, & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
NA AEUER
5| g 440 4 L 80
1054 3 & & S EIDES Ak X B 1= Y S B X IE SSETDES A=E
£T 28 JT
106.A =1 bR
16/100 I I AL 410 4 70
Hhigh 1204 7 f & " SSETDES A=E XB M 1= Y A X IEE SSETDES AL
£T 28 JT
1214 S50 E R
AR I AL 370 3 60
135A | 77 |, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
1364 4EUER
"o | g 350 3 L 60
1504 3 & & S EIDES Ak X B 1= Y B X IE SSETDES A=E
£T 28 JT
1514 S50 bR
AR AL 300 3 50
180A | 77 |, & RS EYDES A2E EEEEVEDES AzE SRR xB1= Y R A%
£T 28 JT
1814 -
R AL 270 2 40
2108 | 77 & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
211A 4EUER
5| g 250 2 L 0
240 3 & & S EIDES Ak X B 1= Y B X IEE SSETDES A=E
£T 28 JT
2A41A S50 E R
R I AL 220 2 40
2108 | 7| & RS EPDES AzE EEEEVEDES A2k SRR RS YDES AL
£T 28 JT
271A S50 E R
I I AL 200 2 30
300A |7, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
£T 28 JT
AN
A | 4a AL 180 1 30
BE |7 S EIDES Ak XSB M 1= Y S B X E SFETDES A=E




B MBEBA)
R HE
%ﬁ EARS | B | FHRS
MBHEEME |
©o | @ |o] o |6
4EULER
A s sy R E IR
T 3 B R
164 4mULER
A RE i@gtuimaﬁXM%ﬁ
25N 3 5 B
ES
261 4mULER
ACHRE i@gtuimaﬁXM%ﬁ
3BA 3 5 B
£
36A 4mULER
A RE 1x@§tuimaﬁxm§$
45N 3 5 B
ES
464 4mULER
A RE 1x@§tU$mEﬁXM%$
60A 3 5 B
£
61A 4L
ACHRE 1x@§tU$mEﬁXM%$
TBA 3 5 B
ES
764 4L
A RE 1x@§tU$mEﬁXM%$
90A 3 5 B
£
91A 4mULER
A RE 1x@§tU$mEﬁXM%$
106N 3 5 B
£
106.A AmULR| N
O S R X B 1= Y SEHE B 4 X B
i 3 B R
T
1214 4EULER
ABRE 1x@§tU$mEﬁXM%$
135N 3 5 B
£
136.A 4EULER
N RE 1x@§tU$mEﬁXM%$
150N 3 5 B
£
1514 4EULER
RE 1x@§tU$mEﬁXM%$
180N 3 5 B
£
1814 4L
AERE 1x@§tU$mEﬁXM%$
210N 3 5 B
£
21 4EULER
RE 1x@§tU$mEﬁXM%$
240N 3 5 B
£
241 A 4EULER
N RE 1x@§tU$mEﬁXM%$
270N 3 5 B
£
A 4EULER
N RE 1x@§tU$mEﬁXM%$
300N 3 5 B
£
4EULER
WA 11g iy i B xR
Ut 3 B R




%ﬁ%g% T E%%m%§§§ ififiif
ﬂﬁt"x = 0 —Flilé 5 =) 1@ %) 5 =)
x4 | ERES FE) Xéuﬁéﬁﬁgﬂiﬁﬁéné
FELOEMZME
D @) @ ® (©)
4EmLER
154 27 330 225 X &P OHKE (30, 660 G~® BB, ))
T 3 & ' EHEB#H +300 X INEXK) X A% X 63/100
164 AEUER
" 16800 225 X & BOHKE (18, 390 G~® BB, ))
22\ s B : e =E +180 X INER) x A%k X 75/100
< 73
261 AEUER
" 12 280 225 X & B DHKE (13,140 G~® BB, ))
32\ s B : e A=E +130 X INER) x A% X 96/100
’E T
36 AEUER
" 9770 225 X & B OHKE (10, 220 G~® BB, ))
42\ s B : e A=ErS +100 X INER) x A% X 98/100
< 73
46 AEULR
" 7 500 225 X & B DHKE (7. 660 G~® BB, ))
e;& s B : e A=ErS +70x EE) x A% X 88/100
’E» T
61N A ER
" 6 130 225 X & BOHBE (6,130 G~® BB, ))
gﬁ s B ' e =E +60 X MEE) X A% X 91/100
’E T
78 AEUER
" 5 990 225 X & B DHKE (5.110 G~® BB, ))
9;& s B : e =E +50 X MEX) x AL X 88/100
< 73
NA AEUER
" 4660 225 X &P DHKE (4, 380 G~® BB, ))
1@} s B : e A=ErS +40 X MNEE) x A% X 90/100
< 3
106.A 4EHUER
15/100|  mB L ool | 225 xBRO®ER (3830 (O~® (@ER. ) )
i 12} s B : e =E +30x MEX) x A% X 92/100
’E T
1214 AEUER
" 3920 225 X & BOHBE (3, 400 G~® BB, ))
1@} s B : A% +30 X MEX) x A% X 94/100
’C T
1364 4B ER
" 3 660 225 X & B DHKE (3, 060 G~® BB, ))
1@} s B : e =E +30x MEE) x A% X 98/100
’C T
151 A 4B ER
" 3 160 225 X &P DHKE (2. 550 G~® BB, ))
12f s B : e =E +20 X MEE) x A% X 91/100
’E T
1814 4B ER
" 5 810 225 X & B DHKE (2,190 G~® BB, ))
ZQA s B : e =E +20 X MNEE) x A% X 94/100
’C T
21A 4B ER
" 5 540 225 X &P DHKE (1,910 G~® BB, ))
225 s B : e =E +10x MEX) x A% X 98/100
’C T
241 A 4B ER
" 5 440 225 X & B DHKE (1,700 G~® BB, ))
225 s B : e =E +10x MEX) x A% X 98/100
’E T
2NA 4B ER
o 5 360 225 X &P DHKE (1,530 G~® BB, ))
325 s B : e =E +10x MEX) x A% X 98/100
’C T
4EmLER
301 A » 150 225 X & B DHE (1. 390 G~® BB, ))
Bl E : e =E +10x MEX) x A% X 98/100

3 ®




_ X MBAEEME I BEE - YEREME I REEREME
| waxs |2 | #wxs HAD R
WBREEME 1 WBREEME 1
G) G)
D @) ©) @ ® ® @
4EmLER 107,700| (115,180)[+| 1,050] (1,130)| x = +| (7,480)| (ot
15;&75 1= +| 7,160/ +| 70xfnE=
3 & R 115, 180 +| 1,130 X IR +| 7480 70xmE=
164 A ER 66,380| (73 860) [+ 640 (720) | x &= +| (7,480)| (70xmzE)
2?19 1= +| 4,300|+| 40xpnE=
£ 3 & R 73, 860 + 720 X INE R +| 7480 70xmE=
260 A ER 48,680| (56, 160) [+ 460 (540) | x InE= +| (7,480)| (70x k)
3\?19 1= +| 3,070|+| 30xinE=
£ 3 & R 56, 160 + 540 X IR +| 7480 70xmE=
36N 4B ER 48,880| (56, 360) [+ 470 (540) | x InE= +| (7,480)| (70xmzE)
4\?19 1= +| 2,380|+| 20xfnE=
£ 3 & R 56, 360 + 540 X IR +| 7480 70xmE=
46N A ER 45,210| (52, 690) |+ 430 (500) | x nE= +| (7, 480)| (70xmzE)
eéjf 1= +| 1,790 +| 10xfnE=
£ 3 & R 52, 690 + 500 X IR +| 7480 70xmE=
61N A ER 40,070|  (47,550) [+ 380 (450) | x InE= +| (7,480)| (70xmzE)
7\?19 1= 4| 1,430|+| 10xfnE=
£ 3 & R 47,550 + 450 X IR +| 7480 70xmE=
76N 4B ER 36,610| (44, 090) [+ 340 (420)| x nE= +| (7, 480)| (70xmzE)
géjf 1= 4| 1,190|+| 10xfnE=
£ 3 & R 44, 090 + 420 X IR +| 7480 70xmE=
9IA 4B ER 34,140|  (41,620) |+ 320 (390) | x &= +| (7,480)| (70xmzE)
10’;‘)? 1= +| 1,020|+| 10xmE=x
g 3 & R 41,620 + 390 X IR +| 7480 70xmE=
106.A 4B ER 32,320|  (39,800) |+ 300 (370)| x InE= +| (7, 480)| (70xmzE)
12/100 5 | e +|  so0|+| sxmm=x
iz 120 A =
+ ¢ 3 & R 39, 800 + 370 X IR +| 7480 70xmE=
1214 4B ER 30,870| (38,350) [+ 290 (360) | x InE= +| (7,480)| (70x k)
132‘)? 1= + 790|+| 7TxmE=
g 3 & R 38, 350 + 360 X IR +| 7480 70xmE=
1364 4B ER 29,740| (37, 220) |+ 270 (350) | x nE= +| (7, 480)| (70xmzE)
15’5‘)? 1= + 7t0|+|  TxmE=
gl 3 & R 37, 220 + 350 X IR +| 7480 70xmE=
151 A 4B ER 28,020|  (35,500) |+ 260 (330) | x InE= +| (7,480)| (70x k)
18’5‘)? 1= +| soo|+| sxmE=
g 3 & R 35, 500 + 330 X IR +| 7480 70xmE=
1814 4B ER 26,770| (34, 250) [+ 240 (320)| x &= +| (7,480)| (70xmzE)
ol | 1% +| st0|+| 5xmEE
£ 3 & R 34, 250 + 320 X IR +| 7480 70xmE=
21A 4B ER 25,850| (33 330) [+ 240 (310)| x &= +| (7,480)| (70x k)
s | 18 +|  a0|+| exmms
£ 3 & R 33,330 + 310 X IR +| 7480 70xmE=
241 A 4B ER 25,140| (32, 620) |+ 230 (300) | x nE= +| (7,480)| (70xmzE)
27’5‘)? 1= +| so0|+| axmmx
£ 3 & R 32, 620 + 300 X IR +| 7480 70xmE=
2NA 4B ER 24,570| (32, 050) [+ 220 (300) | x nE= +| (7,480)| (70xmzE)
30’5‘)? 1= +| sso|+| axmmx
£ 3 & R 32, 050 + 300 X INE R +| 7480 70xmE=
4EmLER 22,740 (30, 220)| + 2000 (280)| x = +| @ 480)| GoxmE®)
30;; 1= —+ 320+ | 3xmmE=X
3 & R 30, 220 + 280 X INE R +| 7480 70xmE=




7 3 ik RIS INEE N E (3

75 3 ik RIS INEE N E (3

BEEE
ont . BRREXENERL) | | BRREXENEAY) AR
wn | BERS | BN | 8RS
| PR | RSN | WBREFMEA 1
@ @ |o| a @ Ok
4ELER
18A g 5,780[+| 50x &=
T 3 & W[+ 52380+ | 520x mzmak|+ | 44 900|+ | 440x Mz
16.A 4ELIER
25 | g 3,470+ | s0xmmk
22% 3 #® R|+| 52 380|+ | 520 x |+ | 44, 900|+ | 440x M
268 4ELIER
N R 2,480[+] 20x g =
3;% 3 % R|+| 52380|+ | 520 x |+ | 44, 900|+ | 440x
364 4ELIER
n5 g N -
42% 3 & m|+| 52 380[+ | 520 x tmsmsk|+ | 44, 900|+ | 440x
LN 4ELIER
AC NS N -
eg% 3 % R|+| 52380|+ | 520 x tgz|+ | 44, 900|+ | 440x
61A 4ELIER
AC NS N -
7;% 3 % R|+| 52 380|+ | 520 x ngzE|+ | 44, 900|+ | 440x
764 4ELIER
Be | e -t B
90A = N o
e 3 & W[+ 52380+ | 520x mzmak|+ | 44 900|+ | 440x Mz
91 A 4ELIER
25 | e -t -
1§Q_ 3 % R|+| 52 380|+ | 520 x |+ | 44, 900|+ | 440x
1064 4B
12/100 25 | e |t -
s 12@ 3 % R 52,380+ | 520x mnggs|+ | 44, 900|+ | 440 x Mg
1214 4ELER
LA R 640[+| 6xmEE
1§Q_ 3 % R|+| 52 380|+ | 520 x ngzE|+ | 44, 900|+ | 440x
136.A 4BMER
L R 570[+| b5xmEE
1?ﬁ- 3 % R|+| 52380|+ | 520 x |+ | 44, 900|+ | 440x
1614 4ELIER
LA I 480[+| 4xmEE
12@ 3 % R|+| 52 380|+ | 520 x ngzE|+ | 44, 900|+ | 440x
1814 4B
LI 410[+|  4xmEE
210)\ = p— e
el 3 & W[+ 52380+ | 520x mzmak|+ | 44 900|+ | 440x Mz
211 A 4ELER
LI 360[+| 3xmEE
240)\ = p— e
ol 3 & W[+ 52380+ | 520x mzmak|+ | 44, 900|+ | 440x Mz
241X 4B
LI 320[+| 3xmE=E
270)\ = p— e
el 3 & W[+ 52380+ | 520x mzmak|+ | 44 900|+ | 440x Mz
271 A 4ELER
) = 280[+| 2xmEE
so0n | 17 %
ol 3 & WR[+| 52380+ | 520x mzmak|+ | 44 900|+ | 440x Mz
4ELIER
301N | g 260[+| 2xmEX
2t 3 & WR[+| 52380+ | 520x mzmak|+ | 44 900|+ | 440x Mz




F—LREEMRNE

B EE N E
XANBCT A Z7= Y B
= oo
iz FEXS & FEX 5 T
=4 i =1=% X4y B RS N | nEHEEN
()
0 @ ©) @
30x MER
LR £ x MEA[+| 3,640+
1A e LR 29, 930 x fnf A %[+ 290 X A =
T 3 B R
20x IE =R
%5 E R X MEALK|+| 2 49|+
1%2 18 Mk 17, 950 x B A S| +|  170x g
=
2;*75 3 B B
20X IE R
%5 E R #x B AL|+| 2 000+
Z%L 18 Mk 12,820 x BN S| +|  120x Mg
=
e 3 m R
10X fng =R
e AERE 8. 970X IEAM+| 00X INFE X IMENH| +| 1730/ +
nis 1= A
4;*75 3 B R
10X fnE =R
46A\ 4Ll ER 7, 480 x AN %] + 70 X INEER x INER A% , 3001 +
ns 1= ,
6‘;*75 3 B R
10x fnE =R
61.A 4mLLER 5, 980 X A 8] -+ 50 X INER X IR A %K , 0401 +
nis 1= N
e 3 m R
8X INE K
e AERE 4,980 X BB A +| 40X INEE X MERAM oo
nis 1= ,
9‘;*75 3 B R
TXINEE
91A\ 4L ER 4, 270 % AN g + 40 X INER X INER A 2K 7401 +
ns 1= ,
1% 3 m R
6x INE K
%5 E R £ X MRAK 650| -+
106\)\ N e 3, 740 x miER A% + 30
12/100 GAEIN I
i 122)% 3 B OB
R IE= S
1214 4L 3, 320 X NERA 2| + 30 x 105K X AR A 2K 570|+
nis 1= ,
s 3 m R
X nExE
1364 4L LR 2990 x MEA 24| + 20 x 185K X MNERA 2K 5201+
nis 1= ,
s 3 m R
R IE= S
1514 4L LR 9490 x MERA 24| + 20 x 185K X AR A 2K 500+
nis 1= ,
1o 3 m R
X nE xR
1814 4L 2,130 x InEA 2| + 20 x M85 X AR A 2K 500+
nis 1= ,
29 3 m R
R IE= S
2A1A 4L LR 1. 870 x A %k| + 10X ANER X ANAR A 500+
nis 1= ,
29 3 m R
X nExE
2A41A 4L LR 1. 660 R A%| + 10X ANER X ANAR A 500+
nis 1= ,
e 3 m R
R IE= S
271A 4L 1,490 x B A% |+ 10X ANER X ANAR A 5001+
nis 1= ,
09 3 m R
R IE= S
4mLLER v R—— 10X JNEL K x AR A % 5001 +
WA | g ,
A 3 B R




RRENE (BEAAE)

RN

| waxs |2 | #wxs
LBREEME |
@ @ ©) @ ®
AN
1BA | 4o AL 2.730 20 480
Al & " SFETDES A=E XB M 1= Y A X IEE SSETDES AL
i Ju
164 LR
R AL 1,630 10 290
BA 17, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
260 LR
R AL 1.170 10 200
BA T, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
T 28 JT
360 LR
R AL 910 9 160
L & RS EYDES A2E EEEEVEDES AzE SRR x Bt Y R A%
T 28 JT
460 LR
R AL 680 6 120
LU & " RS TEDES A2k XBY =Y EHE R MEE RS ETEDES A2k
T 28 JT
614 0
R AL 570 5 100
AT & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
760 0
R AL 500 5 80
A LT, & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
NA AEUER
5| g 440 4 L 80
1054 3 & & S EIDES Ak X B 1= Y S B X IE SSETDES A=E
£T 28 JT
106.A =1 bR
12/100 I I AL 410 4 70
Hhigh 1204 7 f & " SSETDES A=E XB M 1= Y A X IEE SSETDES AL
£T 28 JT
1214 S50 E R
AR I AL 370 3 60
135A | 77 |, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
1364 4EUER
"o | g 350 3 L 60
1504 3 & & S EIDES Ak X B 1= Y B X IE SSETDES A=E
£T 28 JT
1514 S50 bR
AR AL 300 3 50
180A | 77 |, & RS EYDES A2E EEEEVEDES AzE SRR xB1= Y R A%
£T 28 JT
1814 -
R AL 270 2 40
2108 | 77 & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
211A 4EUER
5| g 250 2 L 0
240 3 & & S EIDES Ak X B 1= Y B X IEE SSETDES A=E
£T 28 JT
2A41A S50 E R
R I AL 220 2 40
2108 | 7| & RS EPDES AzE EEEEVEDES A2k SRR RS YDES AL
£T 28 JT
271A S50 E R
I I AL 200 2 30
300A |7, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
£T 28 JT
AN
A | 4a AL 180 1 30
BE |7 S EIDES Ak XSB M 1= Y S B X E SFETDES A=E




B MBEBA)
R HE
%ﬁ EARS | B | FHRS
MBHEEME |
©o | @ |o] o |6
4EULER
A s sy R E IR
T 3 B R
164 4mULER
A RE i@gtuimaﬁXM%ﬁ
25N 3 5 B
ES
261 4mULER
ACHRE i@gtuimaﬁXM%ﬁ
3BA 3 5 B
£
36A 4mULER
A RE 1x@§tuimaﬁxm§$
45N 3 5 B
ES
464 4mULER
A RE 1x@§tU$mEﬁXM%$
60A 3 5 B
£
61A 4L
ACHRE 1x@§tU$mEﬁXM%$
TBA 3 5 B
ES
764 4L
A RE 1x@§tU$mEﬁXM%$
90A 3 5 B
£
91A 4mULER
A RE 1x@§tU$mEﬁXM%$
106N 3 5 B
£
106.A AmULR| N
o S R X B 1= Y SEHE B 4 X B
i 3 B R
T
1214 4EULER
ABRE 1x@§tU$mEﬁXM%$
135N 3 5 B
£
136.A 4EULER
N RE 1x@§tU$mEﬁXM%$
150N 3 5 B
£
1514 4EULER
RE 1x@§tU$mEﬁXM%$
180N 3 5 B
£
1814 4L
AERE 1x@§tU$mEﬁXM%$
210N 3 5 B
£
21 4EULER
RE 1x@§tU$mEﬁXM%$
240N 3 5 B
£
241 A 4EULER
N RE 1x@§tU$mEﬁXM%$
270N 3 5 B
£
A 4EULER
N RE 1x@§tU$mEﬁXM%$
300N 3 5 B
£
4EULER
WA 11g iy i B xR
Ut 3 B R




%ﬁ%g% T E%%m%§§§ ififiif
ﬂﬁt"x = 0 —Flilé 5 =) 1@ %) 5 =)
x4 | ERES FE) Xéuﬁéﬁﬁgﬂiﬁﬁéné
FELOEMME
D @) @ ® (©)
4EmLER
154 27 330 225 X &P OHKE (29, 930 G~® BB, ))
T 3 & ' EHEB#H +290X MNEE) X A% X 63/100
164 AEUER
" 16800 225 X & BOHKE (17. 960 G~® BB, ))
22\ s B : e =E +180 X INER) x A%k X 75/100
< 73
261 AEUER
" 12 280 225 X & B DHKE (12, 820 G~® BB, ))
32\ s B : e A=E +120 X INER) x A% X 96/100
’E i)
36 AEUER
" 9770 225 X & B OHKE (9, 970 G~® BB, ))
42\ s B : e A=ErS +100 X INER) x A% X 98/100
< 73
46 AEULR
" 7 500 225 X & B DHKE (7. 480 G~® BB, ))
e;& s B : e A=ErS +70x EE) x A% X 88/100
< 73
1A AEUER
" 6 130 225 X & BOHBE (5. 980 G~® BB, ))
gﬁ s B ' e =E +60 X MEE) x A% X 91/100
’E i)
78 AEUER
" 5 990 225 X & B DHKE (4,980 G~® BB, ))
9;& s B : e =E +50 X MEX) x AL X 88/100
< 73
NA AEUER
" 4660 225 X &P DHKE (4,270 G~® BB, ))
1@} s B : e A=ErS +40 X MNEE) x A% X 90/100
< 3
106.A 4EHUER
12100 #B L ool | 225 xBRO®ER (3. 740 (O~® (@EBR. ) )
i 12} s B : e =E +30x MEX) x A% X 91/100
’E i)
1214 AEUER
" 3920 225 X & BOHBE (3,320 G~® BB, ))
1@} s B : A% +30 X MEX) x A% X 94/100
’C i)
1364 4B ER
" 3 660 225 X & B DHKE (2. 990 G~® BB, ))
1@} s B : e =E +30x MEE) x A% X 98/100
’C i)
151 A 4B ER
" 3 160 225 X &P DHKE (2. 490 G~® BB, ))
12f s B : e =E +20 X MEE) x A% X 91/100
’E i)
1814 4B ER
" 5 810 225 X & B DHKE (2,130 G~® BB, ))
ZQA s B : e =E +20 X MNEE) x A% X 94/100
’C i)
21A 4B ER
" 5 540 225 X &P DHKE (1. 870 G~® BB, ))
225 s B : e =E +10x MEX) x A% X 98/100
’C i)
241 A 4B ER
" 5 440 225 X & B DHKE (1. 660 G~® BB, ))
225 s B : e =E +10x MEX) x A% X 98/100
’E i)
2NA 4B ER
o 5 360 225 X &P DHKE (1. 490 G~® BB, ))
325 s B : e =E +10x MEX) x A% X 98/100
’C i)
4EmLER
301 A » 150 225 X & B DHE (1. 360 G~® BB, ))
Bl E : e =E +10x MEX) x A% X 98/100

3 ®




_ X MBAEEME I BEE - YEREME I REEREME
| waxs |2 | #wxs HAD R
WBREEME 1 WBREEME 1
G) G)
D @) ©) @ ® ® @
4EmLER 106, 030| (113, 390) L040] (1, 110) | x png s (7,360)| (7oxmE=)
15;&75 1= 7,030+ | 70xpnE=
3 & R 113, 390 110 X IR 7,360] 70x &=
164 A ER 65,380 (72, 740) 630 (700) | x &= (7,360)| (70xmz=)
2?19 1= 4,210+ | 40xpnE=
£ 3 & R 72, 740 700 X INE R 7,360| 70x &=
260 A ER 47,960 (55, 320) 460 (530) | x InE= (7,360)| (70xmz=)
3\?19 1= 3,010 +| 30xpnE=
£ 3 & R 55, 320 530 X IR 7,360] 70x &=
36N 4% E 48,160 (55, 520) 460 (530) | x InE= (7,360)| (70xmz=)
4\?19 1= 2,340 +| 20xpnE =
£ 3 & R 55, 520 530 X IR 7,360] 70x &=
46N A ER 44,550/  (51,910) 420 (500) | x nE= (7,360)| (70xmz=)
eéjf 1= 1,750[+| 10xpnE=
£ 3 & R 51,910 500 X IR 7,360] 70x &=
61N A ER 39,500/ (46, 860) 370 (450) | x InE= (7,360)| (70xmz=)
7\?19 1= 1,400[+| 10xpnE=x
£ 3 & R 46, 860 450 X IR 7,360] 70x &=
76N 4Bl 36,090 (43, 450) 340 410)| x mE= 7.360)| (FoxmEx)
géjf 1= 1,170[+] 10x nE=
£ 3 & R 43, 450 410 X IR 7,360] 70x &=
9IA 4B ER 33,660/ (41, 020) 310 (390) | x &= (7,360)| (70xmz=)
10’;‘)? 1= 1,000]+| 10xmEx
g 3 & R 41,020 390 X IR 7,360] 70x &=
106.A 4B ER 31,860 (39, 220) 300 (370)| x InE= (7,360)| (70xmz=)
10/100 5 | e 870 +| 8xinE=
iz 120 A =
+ ¢ 3 & R 39, 220 370 X IR 7,360] 70x &=
1214 4% E 30, 440 (37, 800) 280 (350) | x nE= (7,360)| (70xmz=)
N 12 780+ T7xmEX
135N =
g 3 & R 37, 800 350 X IR 7,360] 70x &=
1364 4B ER 29,330 (36, 690) 270 (340) | x InE= (7,360)| (70xmz=)
15’5‘)? 1= 700(+| 7x s
gl 3 & R 36, 690 340 X IR 7,360] 70x &=
151 A 4B ER 27,640/ (35, 000) 250 (330) | x InE= (7,360)| (70xmz=)
18’5‘)? 1= 580+ | 5x s
g 3 & R 35, 000 330 X IR 7,360] 70x &=
1814 4Bl 26, 410| (33, 770) 240 (310)| x mE= 7.360)| (FoxmEx)
21’5‘)? 1= 500 +| 5x
£ 3 & R 33,770 310 X IR 7,360] 70x &=
21A 4B ER 265,510/ (32 870) 230 (310)| x &= (7,360)| (70xmz=)
24’5‘)? 1= a30[+|  axmEx
£ 3 & R 32,870 310 X IR 7,360] 70x &=
241 A 4B ER 24,800/ (32, 160) 230 (300) | x nE= (7,360)| (70xmz=)
27’5‘)? 1= 300[+| 3x =
£ 3 & R 32,160 300 X IR 7,360] 70x &=
2NA 4% E 24,240/ (31, 600) 220 (290) | x &= (7,360)| (70xmz=)
30’5‘)? 1= 350+ | 3x
£ 3 & R 31, 600 290 X INE R 7,360] 70x &=
4EmLER 22,450| (29, 810) 200  (280)| x fnE = (7,360)| (7oxmE=)
30;; 1= 310+ 3xmEX
3 & R 29,810 280 X INE R 7,360] 70x &=




7 3 ik RIS INEE N E (3

75 3 ik RIS INEE N E (3

BEEE
ont . BRREXENERL) | | BRREXENEAY) AR
wn | BERS | BN | 8RS
| PR | RSN | WBREFMEA 1
@ @ |o| a @ Ok
4LlER
18A g 5,780[+| 50x &=
T 3 & W[+ 51 530[+ | 510X mzmak|+ | 44 170|+ | 440x Mz
16.A 4LLER
25 | g 3,470+ | s0xmmk
22% 3 #® R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
268 4mLLER
N R 2,480[+] 20x g =
3;% 3 #® R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
364 4LLER
n5 g N -
42% 3 #& m|+| 51 530[+| 510x |+ | 44, 170|+ | 440x
LN 4LLER
AC NS N -
eg% 3 % R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x Mk
61A 4LLER
AC NS N -
7;% 3 % R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
764 4LLER
AC NS N -
9;% 3 #® R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
91 A 4LLER
25 | e -t -
1§Q_ 3 #& R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
1064 4B
10/100 25 | e |t -
s 12@ 3 % R 51,530(+ | 510X m&s|+ | 44, 170|+ | 440 x gz
1214 4LlER
LA R 640[+| 6xmEE
1§Q_ 3 % R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
136.A 4BMER
L R 570[+| b5xmEE
1?ﬁ- 3 #® R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
1614 4LLER
LA I 480[+| 4xmEE
12@ 3 % R|+| 51,530+ 510x x|+ | 44, 170|+ | 440x M
1814 4B
LI 410[+|  4xmEE
210)\ = p— e
el 3 & W[+ 51 530[+ | 510X mzmak|+ | 44 170|+ | 440x Mz
211 A 4LlER
LI 360[+| 3xmEE
240)\ = p— e
ol 3 & W[+ 51 530[+ | 510X mzak|+ | 44 170|+ | 440x Mz
241X 4B
LI 320[+| 3xmE=E
270)\ = p— e
el 3 & W[+ 51 530[+ | 510X mzmak|+ | 44 170|+ | 440x Mz
271 A 4LlER
) = 280[+| 2xmEE
so0n | 17 %
ol 3 & W[+ 51 530[+ | 510X mzmak|+ | 44 170|+ | 440x Mz
4LlER
301 A = 260[+| 2xmEX
s | 1B 7
3 & W[+ 51 530[+ | 510X mzmak|+ | 44 170|+ | 440x Mz




F—LREEMRNE

BEZEMNE
XINETA S = Y Biff
= oo
iz FEXS & FEX 5 T
x5 | EEE X4 B RS N | MBS M
@
@ @ |o| ©
30 x M x
LR Ex B AL +| 3640+
BA | g R 29, 440x MEAK|+| 200 x Mgk
T 3 B R
20 x i x
%5 E R £ x B A+ | 2,490+
1%% 18 R 17,660 x EEA | +| 170X mmH K
=
i 3 & R
20 x i *
%5 E R 2 x g A+ | 2,000+
2%1 18 R 12,620 x EEA | +| 120X K
=
e 3 m R
10X &=
e AERE 8. 810X MEAM+| 00X INFHE X MENH| +| 1,730+
N> 1= ,
gl 3 B R
10X &=
46A\ 4Ll ER 7, 360X AN K] -+ 70 X INEER x INER A% , 3001 +
no 1= )
s 3 B R
10X Mg
61.A 4mLLER 5, 880 X AN K] -+ 50 X INER X IR A %K , 0401 +
N> 1= i
e 3 m R
8x i x
e AERE 4,900 BB A +| 40X IFE X MERAM oo
N> 1= g
s 3 B R
TX xR
91A\ 4L ER 4, 200x AN %] -+ 40 X INER X INER A 2K 7401 +
no 1= g
1% 3 m R
6x s xK
106.A 4L LR 680 X ANERA 2| + 30 x 105K X MNERA 2K 650]+
10/100 N 3,
o | 1208 3 B R
Sx xR
1214 4L 3,270  IEA | + 30 x 105K X AR A 2K 570|+
N> 1= 3
s 3 m R
Sx xR
1364 4L LR 2940 x MERA 24| + 20 x 185K X MNERA 2K 5201+
N> 1= )
s 3 m R
Sx xR
1514 4L LR 9 450 x MERA 24| + 20 x 185K X AR A 2K 500+
N> 1= )
1o 3 m R
SxEE
1814 4L 2,100 x nEA 2| + 20 x M85 X AR A 2K 500+
N> 1= )
29 3 m R
Sx xR
2A1A 4L LR 1, 840 x FnERA%| + 10X ANER X ANAR A 500+
N> 1= )
29 3 m R
Sx xR
2A41A 4L LR 1. 630  pnER A %] + 10X ANER X ANAR A 500+
N> 1= )
e 3 m R
Sx xR
271A 4L 1, 470 x B A% |+ 10X ANER X ANAR A 5001+
N> 1= )
09 3 m R
Sx xR
4mLLER R 10X JNEL K x AR A % 5001 +
WA | g :
A 3 B R




RRENE (BEAAE)

RN

| waxs |2 | #wxs
LBREEME |
@ @ ©) @ ®
AN
1BA | 4o AL 2.730 20 480
Al & " SFETDES A=E XB M 1= Y A X IEE SSETDES AL
i Ju
164 LR
R AL 1,630 10 290
BA 17, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
260 LR
R AL 1.170 10 200
BA T, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
T 28 JT
360 LR
R AL 910 9 160
L & RS EYDES A2E EEEEVEDES AzE SRR x Bt Y R A%
T 28 JT
460 LR
R AL 680 6 120
LU & " RS TEDES A2k XBY =Y EHE R MEE RS ETEDES A2k
T 28 JT
614 0
R AL 570 5 100
AT & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
760 0
R AL 500 5 80
A LT, & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
NA AEUER
5| g 440 4 L 80
1054 3 & & S EIDES Ak X B 1= Y S B X IE SSETDES A=E
£T 28 JT
106.A =1 bR
10/100 I I AL 410 4 70
Hhigh 1204 7 f & " SSETDES A=E XB M 1= Y A X IEE SSETDES AL
£T 28 JT
1214 S50 E R
AR I AL 370 3 60
135A | 77 |, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
1364 4EUER
"o | g 350 3 L 60
1504 3 & & S EIDES Ak X B 1= Y B X IE SSETDES A=E
£T 28 JT
1514 S50 bR
AR AL 300 3 50
180A | 77 |, & RS EYDES A2E EEEEVEDES AzE SRR xB1= Y R A%
£T 28 JT
1814 -
R AL 270 2 40
2108 | 77 & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
211A 4EUER
5| g 250 2 L 0
240 3 & & S EIDES Ak X B 1= Y B X IEE SSETDES A=E
£T 28 JT
2A41A S50 E R
R I AL 220 2 40
2108 | 7| & RS EPDES AzE EEEEVEDES A2k SRR RS YDES AL
£T 28 JT
271A S50 E R
I I AL 200 2 30
300A |7, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
£T 28 JT
AN
A | 4a AL 180 1 30
BE |7 S EIDES Ak XSB M 1= Y S B X E SFETDES A=E




B MBEBA)
R HE
%ﬁ EARS | B | FHRS
MBHEEME |
©o | @ |o] o |6
4EULER
A s sy R E IR
T 3 B R
164 4mULER
A RE i@gtuimaﬁXM%ﬁ
25N 3 5 B
ES
261 4mULER
ACHRE i@gtuimaﬁXM%ﬁ
3BA 3 5 B
£
36A 4mULER
A RE 1x@§tuimaﬁxm§$
45N 3 5 B
ES
464 4mULER
A RE 1x@§tU$mEﬁXM%$
60A 3 5 B
£
61A 4L
ACHRE 1x@§tU$mEﬁXM%$
TBA 3 5 B
ES
764 4L
A RE 1x@§tU$mEﬁXM%$
90A 3 5 B
£
91A 4mULER
A RE 1x@§tU$mEﬁXM%$
106N 3 5 B
£
106.A AmULR| N
o S R X B 1= Y SEHE B 4 X B
Hhig 3 B R
T
1214 4EULER
ABRE 1x@§tU$mEﬁXM%$
135N 3 5 B
£
136.A 4EULER
N RE 1x@§tU$mEﬁXM%$
150N 3 5 B
£
1514 4EULER
RE 1x@§tU$mEﬁXM%$
180N 3 5 B
£
1814 4L
AERE 1x@§tU$mEﬁXM%$
210N 3 5 B
£
21 4EULER
RE 1x@§tU$mEﬁXM%$
240N 3 5 B
£
241 A 4EULER
N RE 1x@§tU$mEﬁXM%$
270N 3 5 B
£
A 4EULER
N RE 1x@§tU$mEﬁXM%$
300N 3 5 B
£
4EULER
WA 11g iy i B xR
Ut 3 B R




%ﬁ%g% T E%%m%§§§ ififiif
ﬂﬁt"x = 0 —Flilé 5 =) 1@ %) 5 =)
x4 | ERES FE) Xéuﬁéﬁﬁgﬂiﬁﬁéné
FELOEMZME
D @) @ ® (©)
4EmLER
154 27 330 205 XZADBE (29, 440 G~® BB, ))
T s B : EY A=E +290 X MNELK) X A% X 63/100
164 A ER
" 16800 225 X & BOHKE (17. 660 G~® BB, ))
22\ s B ' A% +170 X INER) X A% X 75/100
’E» T
260 A ER
" 12 280 225 X & B DHKE (12. 620 G~® BB, ))
32\ s B : e A=E +120 X INELK) X A% X 96/100
’E T
36N 4B ER
" 9770 225 X & B OHKE (9. 810 G~® BB, ))
4;& s B : EY A=E +90 X MEX) x A% X 98/100
’E» T
460 A ER
" 7 500 225 X & B DHKE (7. 360 G~® BB, ))
e;& s B : e A=ErS +70x EE) x A% X 88/100
’E» T
61N A ER
" 6 130 225 X & BOHBE (5. 890 G~® BB, ))
gﬁ s B ' EY A=E +50 X MEE) x A% X 91/100
’E T
76N 4B ER
" 5 990 225 X & B DHKE (4,900 G~® BB, ))
9;& s B : A% +40 X MNEE) x A% X 88/100
’E» T
91 4B ER
" 4660 225 X &P DHKE (4, 200 G~® BB, ))
1@} s B : EY A=E +40 X MNEE) x A% X 90/100
’C T
106.A A LR
10100 #B L ool | 225 xBRO®ER (3. 680 (G~® (@FB. ) )
s 12} s B : EY A=E +30x MEX) x A% X 91/100
’E T
1214 4B ER
" 3920 225 X & BOHBE (3,270 G~® BB, ))
1@} s B : A% +30 X MEX) x A% X 94/100
’C T
1364 4B ER
" 3 660 225 X & B DHKE (2. 940 G~® BB, ))
1@} s B : EY A=E +20 X MEE) x A% X 98/100
’C T
151 A 4B ER
" 3 160 225 X &P DHKE (2. 450 G~® BB, ))
12f s B : EY A=E +20 X MEE) x A% X 91/100
’E T
1814 4B ER
" 5 810 225 X & B DHKE (2,100 G~® BB, ))
ZQA s B : EY A=E +20 X MNEE) x A% X 94/100
’C T
21A 4B ER
" 5 540 225 X &P DHKE (1. 840 G~® BB, ))
225 s B : EY A=E +10x MEX) x A% X 98/100
’C T
241 A 4B ER
" 5 440 225 X & B DHKE (1,630 G~® BB, ))
225 s B : EY A=E +10x MEE) x A% X 97/100
’E T
2NA 4B ER
o 5 360 225 X &P DHKE (1. 470 G~® BB, ))
325 s B : EY A=E +10x MEX) x A% X 98/100
’C T
4EmLER
301 A » 150 205 XZADBE (1,330 G~® BB, ))
Bl E : EY A=E +10x MEX) x A% X 98/100

3 ®




_ X MBAEEME I BEE - YEREME I REEREME
| waxs |2 | #wxs HAD R
WBREEME 1 WBREEME 1
G) G)
D @) ©) @ ® ® @
4EmLER 102, 690| (109, 810) ,000| (1,080) | x g (7,120)| (7oxmE=)
15;&75 1= 6, 750] +| 60x fnE =
3 & R 109, 810 , 080 X IR 7,120 70x &=
164 A ER 63,380 (70, 500) 610 (680) | x InE= 7,120 7oxmz=)
2?19 1= 4,0650)+| 40xpnE=
£ 3 & R 70, 500 680 X INE R 7,120 70x mE=E
260 A ER 46,530 (53, 650) 440 (510)| x InE= 7,120 (7oxmz=)
3\?19 1= 2,890+ | 20xfnE =
£ 3 & R 53, 650 510 X IR 7,120 70x &=
36N 4% E 46,720 (53, 840) 440 (520) | x &= 7,120 (7oxmz=)
4\?19 1= 2,250+ | 20xpnE =
£ 3 & R 53, 840 520 X IR 7,120 70x &=
46N A ER 43,230/ (50, 350) 410 (480) | x InE= 7,120 (7oxmz=)
eéjf 1= 1,680[+| 10xpnE=
£ 3 & R 50, 350 480 X IR 7,120 70x &=
61N A ER 38,350/ (45, 470) 360 (430) | x nE= 7,120 oxmz=)
7\?19 1= 1,350[+| 10xpnE=
£ 3 & R 45, 470 430 X IR 7,120 70x &=
76N 4%k 365,050 (42, 170) 330 (400) | x nE= 7,120 oxmz=)
géjf 1= 1,120[+] 10xfnE=
£ 3 & R 42,170 400 X IR 7,120 70x &=
9IA 4B ER 32,700 (39, 820) 300 (380) | x &= 7,120 (7oxmz=)
10’;‘)? 1= 60| +| 9xmm=
g 3 & R 39, 820 380 X IR 7,120 70x &=
106.A 4B ER 30,960 (38 080) 290 (360) | x InE= 7,120 7oxmz=)
6/100 n 12 840+ 8xmMEX
iz 120 A =
+ ¢ 3 & R 38, 080 360 X IR 7,120 70x &=
1214 4% E 29,590 (36, 710) 270 (340) | x InE= 7,120 oxmz=)
132‘)? 1= 750+ | 7x
g 3 & R 36,710 340 X IR 7,120 70x &=
1364 4B ER 28,510/ (35, 630) 260 (330) | x InE= 7,120 oxmz=)
15’5‘)? 1= 670[+| 6xmEx
gl 3 & R 35, 630 330 X IR 7,120 70x &=
151 A 4B ER 26,870/ (33 990) 250 (320)| x &= 7,120 oxmz=)
18’5‘)? 1= 560+ | 5xmEE
g 3 & R 33, 990 320 X IR 7,120 70x &=
1814 4% E 26,690/ (32 810) 230 (310)| x &= 7,120 oxmz=)
21’5‘)? 1= 40|+ |  4x s
£ 3 & R 32,810 310 X IR 7,120 70x &=
21A 4B ER 24,810/ (31, 930) 230 (300) | x nE= 7,120 oxmz=)
24’5‘)? 1= a0 +|  axmE=
£ 3 & R 31,930 300 X IR 7,120 70x &=
2H N 4% LR 24,130 (31, 250) 220 (290)| x = 71200 Goxme)
27’5‘ R 370[+|  3x =
£ 3 & R 31, 250 290 X IR 7,120 70x &=
2NA 4% E 23,590 (30, 710) 210 (280) | x &= 7,120 oxmz=)
30’5‘)? 1= 330[+| 3xmEx
£ 3 & R 30,710 280 X INE R 7,120 70x &=
4EmLER 21,860| (28, 980) 200  (270)| x pnE = (7,120)| (7oxmE=)
30;; 1= 300[+ | S3xmEX
3 & R 28, 980 270 X INE R 7,120 70x &=




7 3 ik RIS INEE N E (3

75 3 ik RIS INEE N E (3

BEEE
ont . BRREXENERL) | | BRREXENEAY) AR
wn | BERS | BN | 8RS
| PR | RSN | WBREFMEA 1
0 @ @ @ ) ©
4LlER
18A g 5,780[+| 50x &=
T 3 & W[+ 29 830|+ | 490x mzmak|+ | 42 710|+ | 420x M
16.A 4LLER
25 | g 3,470+ | s0xmmk
22% 3 & R|+| 49,830|+ | 490 x k| + | 42, 710|+ | 420 x M
268 4mLLER
N R 2,480[+] 20x g =
3;% 3 & WR|+| 49,830|+ | 490 x k| + | 42, 710|+ | 420 x
364 4LLER
n5 g N -
42% 3 & WR|+| 49,830|+ | 490 x |+ | 42, 710|+ | 420 x M
LN 4LLER
AC NS N -
eg% 3 & R|+| 49,830|+ | 490 x |+ | 42, 710|+ | 420 x M
61A 4ELIER
AC NS N -
7;% 3 & R|+| 49,830|+ | 490 x |+ | 42, 710|+ | 420 x M
764 4ELIER
AC NS N -
9;% 3 & WR|+| 49,830|+ | 490 x k| + | 42, 710|+ | 420 x
91 A 4ELIER
25 | e -t -
1§Q_ 3 & WR|+| 49,830|+ | 490 x |+ | 42, 710|+ | 420 x M
1064 4B
6/100 25 | e |t -
s 12@ 3 % R 49,830+ | 490x mnggs|+ | 42 710(+ | 420 x &
1214 4ELER
LA R 640[+| 6xmEE
1§Q_ 3 & R|+| 49,830|+ | 490 x |+ | 42, 710|+ | 420 x M
136.A 4BMER
L R 570[+| b5xmEE
1?ﬁ- 3 & WR|+| 49,830|+ | 490 x k| + | 42, 710|+ | 420 x
1614 4ELIER
LA I 480[+| 4xmEE
12@ 3 & R|+| 49,830|+ | 490 x |+ | 42, 710|+ | 420 x M
1814 4B
LI 410[+|  4xmEE
210)\ = p— e
el 3 & W[+ 29 830|+ | 490x mzmak|+ | 42 710|+ | 420x M
211 A 4ELER
LI 360[+| 3xmEE
240)\ = p— e
ol 3 & W[+ 29 830|+ | 490x mzmak|+ | 42 710|+ | 420x M
241X 4B
LI 320[+| 3xmE=E
270)\ = p— e
el 3 & W[+ 29 830|+ | 490x mzmak|+ | 42 710|+ | 420x M
271 A 4ELER
) = 280[+| 2xmEE
so0n | 17 %
ol 3 & W[+ 29 830[+ | 490x mzmak|+ | 42 710|+ | 420x M
4ELIER
301N | g 260[+| 2xmEX
2t 3 & W[+ 29 830[+ | 490x mzmak|+ | 42 710|+ | 420x M




F—LREEMRNE

B EE N E
XANBCT A Z7= Y B
= oo
sk EEXS N FHES B 1
X4 EH X4 BRI | nBREZEME
()
0 @ ©) @
30x MER
%Ll IR 5 X AR A S , 640 +
BA | g Mile 28, 470 BB ASK|+| 280 g =
T 3 B R
20x IE =R
%5 E R X MEALK|+| 2 49|+
1%2 18 Mk 17,080 x MEEA S| +|  170x e
=
2;*75 3 B B
20X IE R
%5 E R #x B AL|+| 2 000+
2%1 18 Mk 12,200 MERA S| +]|  120x Mg
=
3;*75 3 B B
10X fng =R
e AERE 8. 400 IE A+ | 00X INFE X IEAH| +| 1,730/ +
nis 1= A
4;*75 3 B R
10X fnE =R
46A\ 4Ll ER 7 10X mEA ] + 70 X INEER x INER A% , 3001 +
ns 1= ,
6‘;*75 3 B R
10x fnE =R
61.A 4mLLER 5, 690 X A K] -+ 50 X INER X IR A %K , 0401 +
nis 1= N
e 3 m R
8 X ME R
e AERE 4,740 BB A +| 40X INEE X IMERAM oo
nis 1= ,
9‘;*75 3 B R
TX MER
%5 E R £ X MRAK 740| +
91& L | 4,060 x MNER A%k | + 40X B X
15
105 3 ®m &
T
6 X ME R
%L E R £ X MRAK 650| -+
o0 | s 18 “E 3,550 x AAKK|+|  30xmEE
i 122)% P R
X mER
%5k £ X MEAKK 570/ +
12;\); 12 ke 3, 160 fnAE A %| + 30X & X
=
s 3 m R
X mER
1364 4L LR 2 840 x MERA 24| + 20 x 185K X MNERA 2K 5201+
nis 1= ,
s 3 m R
X mER
1514 4L LR 2 370 x MERA 24| + 20 x 185K X AR A 2K 500+
nis 1= ,
1o 3 m R
X mER
1814 4L 2. 030 x nEEA 2| + 20 x M85 X AR A 2K 500+
nis 1= ,
29 3 m R
X mER
2A1A 4L LR 1, 770 A sk| + 10X ANER X ANAR A 500+
nis 1= ,
29 3 m R
X mER
2A41A 4L LR 1. 580 x FnER A %] + 10X ANER X ANAR A 500+
nis 1= ,
e 3 m R
bx B R
271A 4L 1, 420 x B A% |+ 10X ANER X ANAR A 5001+
nis 1= ,
09 3 m R
bx B R
4mLLER 1 290 X EAS] 4+ 10X JNEL K x AR A % 5001 +
WA | g ,
A 3 B R




RRENE (BEAAE)

RN

| waxs |2 | #wxs
LBREEME |
@ @ ©) @ ®
AN
1BA | 4o AL 2.730 20 480
Al & " SFETDES A=E XB M 1= Y A X IEE SSETDES AL
i Ju
164 LR
R AL 1,630 10 290
BA 17, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
260 LR
R AL 1.170 10 200
BA T, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
T 28 JT
360 LR
R AL 910 9 160
L & RS EYDES A2E EEEEVEDES AzE SRR x Bt Y R A%
T 28 JT
460 LR
R AL 680 6 120
LU & " RS TEDES A2k XBY =Y EHE R MEE RS ETEDES A2k
T 28 JT
614 0
R AL 570 5 100
AT & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
760 0
R AL 500 5 80
A LT, & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
NA AEUER
5| g 440 4 L 80
1054 3 & & S EIDES Ak X B 1= Y S B X IE SSETDES A=E
£T 28 JT
106.A =1 bR
6/100 I I AL 410 4 70
Haigh 1204 7 f & " SSETDES A=E XB M 1= Y A X IEE SSETDES AL
£T 28 JT
1214 S50 E R
AR I AL 370 3 60
135A | 77 |, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
1364 4EUER
"o | g 350 3 L 60
1504 3 & & S EIDES Ak X B 1= Y B X IE SSETDES A=E
£T 28 JT
1514 S50 bR
AR AL 300 3 50
180A | 77 |, & RS EYDES A2E EEEEVEDES AzE SRR xB1= Y R A%
£T 28 JT
1814 -
R AL 270 2 40
2108 | 77 & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
211A 4EUER
5| g 250 2 L 0
240 3 & & S EIDES Ak X B 1= Y B X IEE SSETDES A=E
£T 28 JT
2A41A S50 E R
R I AL 220 2 40
2108 | 7| & RS EPDES AzE EEEEVEDES A2k SRR RS YDES AL
£T 28 JT
271A S50 E R
I I AL 200 2 30
300A |7, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
£T 28 JT
AN
A | 4a AL 180 1 30
BE |7 S EIDES Ak XSB M 1= Y S B X E SFETDES A=E




B (EHRA)
; .
%ﬁ ARy |E5| FnEs
nEREENE 1
0 0 ® ® |o
AmUER
Y| e iﬂ%tuimEﬁXM§$
&T 3 B =B
164 4L bR
2els i@gtu%ﬁaﬁxM%&
2B 3 & R
T
26 4L bR
nele i@gtu%ﬁaﬁxM%&
oA 3 & R
T
36A 4L bR
nele 1XE%EU$mEﬁXM§$
oA 3 & R
T
46N 4L bR
N 1XE%EU$mEﬁXM§$
60 3 & R
T
61A 4%k
nele 1XE%EU$mEﬁXM§$
oA 3 & R
T
76N 4%k
N 1XE%EU$mEﬁXM§$
S04 3 & R
T
91N 4L bR
SR 1XE%EU$mEﬁXM§$
105N 3 5 R
T
106 AmULR| )
s o | 1® X E % 1 Y S B X B R
i ! s = n
T
1214 4L bR
SR 1XE%EU$mEﬁXM§$
135N 3 5 R
T
1360 4L bR
ol 1XE%EU$mEﬁXM§$
150N 3 5 R
T
1514 4L bR
oo 1XE%EU$mEﬁXM§$
180N 3 5 R
T
1814 4L
ol 1XE%EU$mEﬁXM§$
210 A 3 5 R
T
211N 4L bR
o | 1XE%EU$mEﬁXM§$
240 A 3 5 R
T
241N 4L bR
o e 1XE%EU$mEﬁXM§$
270 A 3 5 R
T
2N A 4L bR
oo s 1XE%EU$mEﬁXM§$
300.A 3 5 R
T
AmUER
e 1XE%EU$mEﬁXM§$
Ak 3 & R




%ﬁ%g% T E%%m%§§§ ififiif
ﬂﬁt"x = 0 —Flilé 5 =) 1@ %) 5 =)
x4 | ERES FE) Xéuﬁéﬁﬁgﬂiﬁﬁéné
FELOEMZME
D @) @ ® (©)
4EmLER
154 27 330 205 XZADBE (28, 470 G~® BB, ))
T s B : EY A=E +280 X MNELK) X A% X 63/100
164 A ER
" 16800 225 X & BOHKE (17. 080 G~® BB, ))
22\ s B ' A% +170 X INEK) X A% X 75/100
’E» T
260 A ER
" 12 280 225 X & B DHKE (12. 200 G~® BB, ))
32\ s B : e A=E +120 X INELK) X A% X 96/100
’E T
36N 4B ER
" 9770 225 X & B OHKE (9, 490 G~® BB, ))
4;& s B : e A=ErS +90 X MEX) x A% X 98/100
’E» T
460 A ER
" 7 500 225 X & B DHKE (7.120 G~® BB, ))
e;& s B : e A=ErS +70x MEE) x A% X 88/100
’E» T
61N A ER
" 6 130 225 X & BOHBE (5. 690 G~® BB, ))
gﬁ s B ' EY A=E +50 X MEE) x A% X 91/100
’E T
76N 4B ER
" 5 990 225 X & B DHKE (4,740 G~® BB, ))
9;& s B : A% +40 X MNEE) x A% X 88/100
’E» T
91 4B ER
" 4660 225 X &P DHKE (4, 060 G~® BB, ))
1@} s B : EY A=E +40 X MNEE) x A% X 90/100
’C T
106.A A LR
6/100 et L ool | 225 xBRO®ER (3. 560 (G~® (@FB. ) )
tish 12} s B : EY A=E +30x MEX) x A% X 91/100
’E T
1214 4B ER
" 3920 225 X & BOHBE (3,160 G~® BB, ))
1@} s B : A% +30 X MEX) x A% X 94/100
’C T
1364 4B ER
" 3 660 225 X & B DHKE (2. 840 G~® BB, ))
1@} s B : EY A=E +20 X MEE) x A% X 98/100
’C T
151 A 4B ER
" 3 160 225 X &P DHKE (2,370 G~® BB, ))
12f s B : EY A=E +20 X MEE) x A% X 91/100
’E T
1814 4B ER
" 5 810 225 X & B DHKE (2,030 G~® BB, ))
ZQA s B : EY A=E +20 X MNEE) x A% X 94/100
’C T
21A 4B ER
" 5 540 225 X &P DHKE (1,780 G~® BB, ))
225 s B : EY A=E +10x MEX) x A% X 98/100
’C T
241 A 4B ER
" 5 440 225 X & B DHKE (1,580 G~® BB, ))
225 s B : EY A=E +10x MEX) x A% X 98/100
’E T
2NA 4B ER
o 5 360 225 X &P DHKE (1. 420 G~® BB, ))
325 s B : EY A=E +10x MEX) x A% X 98/100
’C T
4EmLER
301 A » 150 205 XZADBE (1,290 G~® BB, ))
Bl E : EY A=E +10x MEX) x A% X 98/100

3 ®




_ X MBAEEME I BEE - YEREME I REEREME
| waxs |2 | #wxs HAD R
WBREEME 1 WBREEME 1
G) G)
D @) ©) @ ® ® @
4EmLER 100,180| (107, 110)|+ 980| (1, 050)| x g +| (6,930)] (60 )
15;&75 1= +| 6,550|+| 60xfnE=
3 & R 107,110 +| 1,050 X IR +| 6930 60xmEx
164 A ER 61,870| (68, 800) |+ 600 (660) | x InE= +| (6,930)| (60x k)
2?19 1= +| 3,930|+| 30xinE=
£ 3 & R 68, 800 + 660 X INE R +| 6930 60xmEx
260 A ER 45, 450| (52, 380) [+ 430 (500) | x nE= +| (6,930)| (60x k)
3\?19 1= +| 2,800|+| 20xfnE=
£ 3 & R 52, 380 + 500 X IR +| 6930 60xmE=x
36N 4B ER 45,640| (52,570) |+ 430 (500) | x &= +| (6,930)| (60X k)
4\?19 1= +| 2,180|+| 20xfnE=
£ 3 & R 52, 570 + 500 X IR +| 6930 60xmE=x
46N A ER 42,240|  (49,170) [+ 400 (470)| x inE= +| (6,930)| (60x k)
eéjf 1= +| 1,630|+| 10xfnE=
£ 3 & R 49,170 + 470 X IR +| 6930 60xmEx
61N A ER 37,480| (44, 410) [+ 350 (420)| x nE= +| (6,930)| (60x k)
7\?19 1= +| 1,310|+| 10xnE=x
£ 3 & R 44,410 + 420 X IR +| 6930 60xmE=x
76N 4B ER 34,270| (41, 200) |+ 320 (390) | x &= +| (6,930)| (60x k)
géjf 1= 4| 1,000|+| 10xfnE=
£ 3 & R 41, 200 + 390 X IR +| 6930 60xmE=x
9IA 4B ER 31,980| (38,910) [+ 300 (370)| x InE= +| (6,930)| (60X k)
10’;‘)? 1= +| ezo|+| oxmmz
g 3 & R 38,910 + 370 X IR +| 6930 60xmE=x
106.A 4B ER 30,290| (37, 220) |+ 280 (350) | x nE= +| (6,930)| (60x k)
3/100 5 | e +|  s10]+| sxmE=x
iz 120 A =
+ ¢ 3 & R 37, 220 + 350 X IR +| 6930 60xmEx
1214 4B ER 28,940| (35, 870) [+ 270 (340) | x InE= +| (6,930)| (60x k)
2| s +| 70| +|  7xmEE
g 3 & R 35, 870 + 340 X IR +| 6930 60xmE=x
1364 4B ER 27,890| (34, 820) [+ 260 (330) | x InE= +| (6,930)| (60x k)
15’5‘)? 1= +| eso|+| exmmz
gl 3 & R 34, 820 + 330 X IR +| 6930 60xmE=x
151 A 4B ER 26,300| (33, 230) [+ 240 (310)| x &= +| (6,930)| (60x k)
18’5‘)? 1= +|  sa0|+| sxmEz
g 3 & R 33,230 + 310 X IR +| 6930 60xmE=x
1814 4B ER 25,150| (32, 080) [+ 230 (300) | x nE= +| (6,930)| (60x k)
21’5‘)? 1= +| aso|+| axmmEz
£ 3 & R 32, 080 + 300 X IR +| 6930 60xmE=x
21A 4B ER 24,290| (31, 220) [+ 220 (290) | x nE= +| (6,930)| (60x k)
24’5‘)? 1= +| a00|+| axmm=
£ 3 & R 31,220 + 290 X IR +| 6930 60xmE=x
241 A 4B ER 23,630| (30, 560) [+ 210 (280) | x &= +| (6,930)| (60x k)
27’5‘ R +| seo|+| 3xmmEz
£ 3 & R 30, 560 + 280 X IR +| 6930 60xmE=x
2NA 4B ER 23,100| (30, 030) [+ 210 (280) | x &= +| (6,930)| (B0x k)
30’5‘)? 1= +| so0|+| axmmx
£ 3 & R 30, 030 + 280 X INE R +| 6930 60xmEx
4EmLER 21,410] (28, 340)| + 190]  (260) | x pn&z +| (6.930)| GOxmER)
30;; 1= —+ 20|+ | 2xpnE=x
3 & R 28, 340 + 260 X INE R +| 6930 60xmEx




7 3 ik RIS INEE N E (3

75 3 ik RIS INEE N E (3

BEEE
ont . BRREXENERL) | | BRREXENEAY) AR
wn | BERS | BN | 8RS
| PR | RSN | WBREFMEA 1
0 @ @ @ ) ©
4LlER
18A g 5,780[+| 50x &=
T 3 & W[+ 48560+ | 480x mzak|+ | 41 630[+ | 410x Mz
16.A 4LLER
25 | g 3,470+ | s0xmmk
22% 3 % WR|+| 48 560|+ | 480x |+ | 41,630|+ | 410x Mk
268 4mLLER
N R 2,480[+] 20x g =
3;% 3 % WR|+| 48 560|+ | 480x k| + | 41,630|+ | 410x M
364 4LLER
n5 g N -
42% 3 % WR|+| 48 560|+ | 480x tgzk|+ | 41,630|+ | 410x Mk
LN 4LLER
AC NS N -
eg% 3 #& WR|+| 48 560|+ | 480x k| + | 41,630|+ | 410x Mk
61A 4LLER
AC NS N -
7;% 3 #& WR|+| 48 560|+ | 480x |+ | 41,630|+ | 410x Mk
764 4LLER
AC NS N -
9;% 3 % WR|+| 48 560|+ | 480x k| + | 41,630|+ | 410x M
91 A 4LLER
25 | e -t -
1§Q_ 3 % WR|+| 48 560|+ | 480x tgzk|+ | 41,630|+ | 410x Mk
1064 4B
3/100 25 | e |t -
s 12@ 3 % R 48,560(+ | 480 Mg+ | 41, 630(+ | 410x B
1214 4LlER
LA R 640[+| 6xmEE
1§Q_ 3 #& WR|+| 48 560|+ | 480x |+ | 41,630|+ | 410x Mk
136.A 4BMER
L R 570[+| b5xmEE
1?ﬁ- 3 % WR|+| 48 560|+ | 480x k| + | 41,630|+ | 410x M
1614 4LLER
LA I 480[+| 4xmEE
12@ 3 #& WR|+| 48 560|+ | 480x |+ | 41,630|+ | 410x Mk
1814 4B
LI 410[+|  4xmEE
210)\ = p— e
el 3 & W[+ 48560+ | 480x mzak|+ | 41 630[+ | 410x Mz
211 A 4LlER
LI 360[+| 3xmEE
240)\ = p— e
ol 3 & W[+ 48560+ | 480x mzak|+ | 41 630|+ | 410x Mz
241X 4B
LI 320[+| 3xmE=E
270)\ = p— e
el 3 & W[+ 48560+ | 480x mzak|+ | 41 630[+ | 410x Mz
271 A 4LlER
) = 280[+| 2xmEE
so0n | 17 %
ol 3 & W[+ 48 560+ | 480x mzak|+ | 41 630[+ | 410x Mz
4LlER
301N | g 260[+| 2xmEX
2t 3 & W[+ 48 560+ | 480x mzak|+ | 41 630[+ | 410x Mz




F—LREEMRNE

B EE N E
XANBCT A Z7= Y B
= oo
iz FEXS & FEX 5 T
=4 i =1=% X4y B RS N | nEHEEN
()
0 @ ©) @
30x MER
%Ll LR 5 X AR A S , 640 +
1A e LR 27, 750 x fnfg A %[+ 270 x N =
T 3 B R
20x IE =R
%5 E R X MEALK|+| 2 49|+
1%2 18 Mk 16, 650 x MEEA S| +|  160x Mg
=
2;*75 3 B B
20X IE R
%5 E R #x B AL|+| 2 000+
Z%L 12 Mie 11, 890 x mnfEE A #&| + 110X N =
=
3;*75 3 B B
10X fng =R
e AERE 8. 260X B A+ | 00X IFE X IENH| +| 1,730/ +
nis 1= A
4;*75 3 B R
10X fnE =R
46A\ 4Ll ER 6, 930 x IEA K] -+ 60 X INER X IR A %K , 3001 +
ns 1= 3
6‘;*75 3 B R
10x fnE =R
61.A 4mLLER 5, 550 % A 8] -+ 50 X INER X IR A %K , 0401 +
nis 1= N
e 3 m R
8 X ME R
e AERE 4,620 BB +| 40X IEE X ERAM oo
nis 1= ,
9‘;*75 3 B R
TX MER
91A\ 4L ER 3, 960X A K] -+ 30 X INER X INER ALK 7401 +
ns 1= ,
1% 3 m R
0|+| 6xinEx
6 %5 E R £ X MRAK 66
3/100 1073\); 12 tHE 3, 460 x &L A #| + 30 sy =
i) 122)% 3 B OB
X mER
1214 4L 3, 080 x ANEEA 2| + 30 x 105K X AR A 2K 570|+
nis 1= ,
s 3 m R
X mER
1364 4L LR 2 770 x MERA 24| + 20 x 185K X MNERA 2K 5201+
nis 1= ,
s 3 m R
X mER
1514 4L LR 2 310 x MERA 2| + 20 x 185K X AR A 2K 500+
nis 1= ,
1o 3 m R
X mER
1814 4L 1, 980 X B A% |+ 10X ANER X ANAR A 500+
nis 1= ,
29 3 m R
X mER
2A1A 4L LR 1, 730 x A gk| + 10X ANER X ANAR A 500+
nis 1= ,
29 3 m R
X mER
2A41A 4L LR 1, 540  FnER %] + 10X ANER X ANAR A 500+
nis 1= ,
e 3 m R
bx B R
271A 4L 1,380 X B A% |+ 10X ANER X ANAR A 5001+
nis 1= ,
09 3 m R
bx B R
4mLLER 1 260X EEAS] 4+ 10X JNEL K x AR A % 5001 +
WA | g ,
A 3 B R




RRENE (BEAAE)

RN

| waxs |2 | #wxs
LBREEME |
@ @ ©) @ ®
AN
1BA | 4o AL 2.730 20 480
Al & " SFETDES A=E XB M 1= Y A X IEE SSETDES AL
i Ju
164 LR
R AL 1,630 10 290
BA 17, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
260 LR
R AL 1.170 10 200
BA T, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
T 28 JT
360 LR
R AL 910 9 160
L & RS EYDES A2E EEEEVEDES AzE SRR x Bt Y R A%
T 28 JT
460 LR
R AL 680 6 120
LU & " RS TEDES A2k XBY =Y EHE R MEE RS ETEDES A2k
T 28 JT
614 0
R AL 570 5 100
AT & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
760 0
R AL 500 5 80
A LT, & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
NA AEUER
5| g 440 4 L 80
1054 3 & & S EIDES Ak X B 1= Y S B X IE SSETDES A=E
£T 28 JT
106.A =1 bR
3/100 I I AL 410 4 70
Haigh 1204 7 f & " SSETDES A=E XB M 1= Y A X IEE SSETDES AL
£T 28 JT
1214 S50 E R
AR I AL 370 3 60
135A | 77 |, & RS YDES AzE EEEEVEDES A2k SRR xB1= Y R A%
T 28 JT
1364 4EUER
"o | g 350 3 L 60
1504 3 & & S EIDES Ak X B 1= Y B X IE SSETDES A=E
£T 28 JT
1514 S50 bR
AR AL 300 3 50
180A | 77 |, & RS EYDES A2E EEEEVEDES AzE SRR xB1= Y R A%
£T 28 JT
1814 -
R AL 270 2 40
2108 | 77 & RS YDES A2E EEEEVEDES A2k SRR xB1= Y R A%
£T 28 JT
211A 4EUER
5| g 250 2 L 0
240 3 & & S EIDES Ak X B 1= Y B X IEE SSETDES A=E
£T 28 JT
2A41A S50 E R
R I AL 220 2 40
2108 | 7| & RS EPDES AzE EEEEVEDES A2k SRR RS YDES AL
£T 28 JT
271A S50 E R
I I AL 200 2 30
300A |7, & RS YDES AL EEEEVEDES AzE SRR RS YDES AL
£T 28 JT
AN
A | 4a AL 180 1 30
BE |7 S EIDES Ak XSB M 1= Y S B X E SFETDES A=E




